
105 TRAVELER CAR ASSEMBLY
106 LOWER ROLLER UNIT (PRE-95 H14/  $114.53 
111 TRAVELER CAR ASSY BRASS WHEEL  $193.20 
112 LOWER ROLLER UNIT BRASS WHEEL  $139.38 
114 HALYARD GRIP  $12.82 
122 BATTENS-SSI SUPER JIB SET OS  $75.89 
136 RUDDER STIFFENING KIT  $11.58 
176 TRAP STAYS  $40.01 
204 THIRD HAND  $106.25 
334 AIR FLOW TELS, RED / GREEN  $13.23 
370 SHOCK CORD BALL TIES  $19.31 
374 TELO CAT, COLLAR, SET SCREW  $13.79 
376 SILICON RTV 100% 3 OZ.  $13.79 
377 TELO CAT  $62.09 
378 TELO CAT REPLACEMENT VANE  $22.07 
615 BOOK, PENGUIN BOAT FLIPPERS  $15.17 
790 FIBERGLASS STAIN REMOVER  $15.17 

1071 JIB TRAV. TRIM KIT W/SW.  $367.08 
1075 SWIVEL CAM CLEAT / CAR + CLEAT  $175.26 
1076 SWIVEL CAM CLEAT / CAR  $120.05 
1125 CAN HOLDER,TRAMP/WING  $35.87 
1132 MAST BEARING W/DISK KIT - H18  $24.83 
1161 PAD SWVL CAM CLEAT  $11.99 
1162 MOUNTING PLATE W/HARDWRE  $19.31 
1203 TRAPEZE RIG ADJ.PAIR W/O  $193.20 
1204 TRAPEZE RIG ADJ KIT DOUBL  $289.80 
1263 UPRIGHT- H-16  $281.52 
1266 RESCUE STEP - BOAT  $89.69 
1510 SUPERGOOSE,TRENTEC  $37.25 
1511 GOOSENECK BEARING, TRENTEC  $13.65 
1512 JIB PROTECTOR KIT-TRENTEC  $23.45 
1513 JIB PROTECTOR KIT, H20-TRENTEC  $15.17 
1544 KICK BACK KIT, TRENTEC  $27.59 
1551 KNIFE, DLX STAINLESS  $34.49 
1552 JIB CARS, H16-TRENTEC-PR.  $31.73 
1561 LUFF CAP KIT H14 TRENTEC  $17.93 
1562 LUFF CAP KIT H16 TRENTEC  $20.69 
1563 LUFF CAP KIT H18 TRENTEC  $20.69 
1566 BATTEN CAP H16 JIB LUFF  $11.44 
1603 MAGICA RUST REMOVER GEL 8 OZ B  $16.55 
1611 POLISH, STARBRITE MARINE  $31.73 
1618 POLISH, FIBERGLASS COLOR  $31.73 
1620 END CAP CAT & TIGER TRAX  $38.63 
1621 CAT TRAX W/ 8' AXLE OS  $774.18 



1622 CAT TRAX W/8.5' AXLE H20 OS  $774.18 
1623 CAT TRAX T-HANDLE OS  $205.62 
1624 CAT CRADLES, FITS ALL BOATS, C  $412.62 
1625 WAVE BLUE TRAX OS  $683.10 
1626 BLUE TRAX W/ 8' AXLE OS  $683.10 
1630 CAT TRAX - WAVE 7' AXLE OS  $774.18 
1635 CAT TRAX WHEEL ONLY REPL. OS  $241.50 
1636 BLUE TRAX WHEEL ONLY REP OS  $110.39 
1640 CAT TRAX REPLA. BEARINGS  $49.67 
1641 CAT TRAX NYLON WASHERS  $24.83 
1642 CAT TRAX S.S. WASHERS  $16.55 
1643 CAT TRAX COTTER PINS  $16.55 
1644 AXLE HOSE C.T. OR T.T.  $23.45 
1645 AXLE, CAT TRAX 8' REPLACEMENT OS  $114.53 
1646 AXLE, CAT TRAX 8 1/2' REPLACEM OS  $114.53 
1647 AXLE, TIGER TRAX 8' REPLACEMEN OS  $114.53 
1648 AXLE, TIGER TRAX WAVE 7' REPLA OS  $114.53 
1662 TAPE, SAIL REPAIR 2"X 25' ROLL  $16.55 
1665 REPAIR KIT, SAIL  $38.63 
1793 TIEDOWN H16 CUSTOM  $164.22 
1795 TIE DOWN: ONE PIECE  $44.15 
1811 SNORKEL - H16/SPRT/18/21SC JIB  $218.59 
1812 SNORKEL - H1-14/H-14 TURBO JIB  $321.54 
1813 SNORKEL - H18SX/20/21SE JIB  $372.60 
1815 SNORKEL - GETAWAY JIB  $224.94 
1953 TILLER CONNECTOR KIT  $277.38 
1954 TILLER CONNECTER KIT,WAVE  $362.94 
1956 CLUB TILLER CONNECTOR KIT  $274.62 
1957 TILLER CONNECTION KIT '07 ROTO  $162.37 
2001 DOG BONE. STD  $16.55 
2002 DOG BONE,MODIFIED  $20.69 
2003 DOG BONE FLEXIBLE  $28.97 
2010 TRAP HANDLE, ALUMINUM  $38.63 
2011 HANDLE TRAPEZE  $8.82 
2061 GROMMET & TOOL KIT  $66.23 
2062 GROMMETS #4 BRAS PKG. 24  $26.21 
2064 TRAMP LACE KIT H14/16/18  $68.99 
2065 TOOL, EASY RIG  $17.93 
2066 TRAMP CLAMP, TRENTEC  $16.55 
2067 MAIN SHEET OVRBD.PREV.66"  $56.57 
2069 TOOL, EASY RIG-MAXI  $26.21 
2070 CLAMCLEAT TUG CLEAT  $33.63 
2072 BOOM VANG EYE STRAP  $13.79 
2081 DOWNHAUL KIT H14/16  $60.71 



2082 SCALE - DOWN HAUL / FISH  $6.33 
2089 DOWNHAUL KIT 6:1 H14/16  $316.02 
2090 HOBIE 14 "POWER PAK"  $550.62 
2091 HOBIE 16 "POWER PAK"  $503.70 
2101 SHOCK CORD HOOK 1/4" - HOBIE  $2.88 
2102 SHOCK CORD FASTENER (SCH) 5/16  $5.49 
3043 LICENSE FRAME - CHROME "HOBIE"  $23.45 
3045 LICENSE FRAME - HOBIE FISHING  $27.59 
3052 TILLER CONNECTOR DLX KIT  $27.59 
3062 SHACKLE, FAST  $48.29 
3064 HALYARD RING-AUSSIE  $56.57 
3091 PADDLE, TELESCOPING 20"-3'9"  $74.51 
3101 TRAPEZE RIG KIT, W/DOG BN  $110.39 
3102 TRAPEZE RIG KIT W/O BONES  $68.99 
3103 BLOCK, MINI W/AXLE  $19.31 
3121 DELUXE SAIL BAG  $178.67 
3125 COMPTIP COVER, H16/18/20  $115.91 
3127 COMPTIP COVER,HOBIE 17/21  $115.91 
3128 BAG TRAMP STORAGE W/ MAP  $67.27 
3152 HOBIE MAST STEPPER OS  $412.62 
3155 HOBIE MAST STEPPER II  $118.67 
3156 HOBIE MAST STEPPER III OS  $467.82 
3175 MAST CRADLE HOBIE  $95.21 
3205 HIKING STICK YOKE CONN.  $19.31 
3206 BLACK FOAM GRIP .570 X 11"  $17.93 
3207 BLACK FOAM GRIP .940"  X 12"  $17.93 
3262 SPREADER BAR END COVER  $19.31 
5029 HAT, HOBIE FIRST CAST GRY/BLK  $34.49 
5032 HAT, HOBIE KAYAK  $34.49 
5040 HAT, HOBIE CLASSIC SURF NAVY  $31.73 
5041 HAT, HOBIE CLASSIC DIAMOND NAV  $31.73 
5042 HAT, HOBIE LIFEGUARD  $41.39 
5045 HAT, HOBIE CAMO REDFISH  $27.59 
5046 HAT, HOBIE RED REDFISH  $27.59 
5047 HAT, HOBIE BASS PATCH  $31.73 
5049 HAT, HOBIE DORADO  $38.63 
5050 HAT, HOBIE STRIPER  $34.49 
5051 RUDDER PIN,H14/16 FG (PAIR)  $31.73 
5052 RUDDER PIN H17/18 FG (PAIR)  $31.73 
5056 BEANIE/HAT, HOBIE BLACK  $20.69 
5057 BEANIE/HAT, HOBIE GREY  $20.69 
5058 HAT, HOBIE WATER-OLIVE  $- 
5059 HAT, HOBIE WATER-TAN  $43.46 
5060 HAT, MIRAGE ECLIPSE  $23.45 



5063 VISOR/HAT, TURQUOISE MESH  $20.69 
5064 HAT, SUPER SURFER NAVY  $31.73 
5065 HAT, SUPER SURFER SKY  $31.73 
5066 HAT, SAILBOAT STRAW LADIES  $43.87 
5069 HOBIE OLIVE SCRIPT HAT  $- 
5071 HOBIE CORAL DISCOVER HAT  $31.73 
5107 SILICONE SPRAY 7oz  $15.17 
5120 HOBIE MULTI LUBE 1 OZ  $15.17 
5121 HOBIE MULTI LUBE 4 OZ  $26.21 
5201 RUDDER CAM SCREW,H14/16  $30.35 
5202 RUDDER CAM KIT H14/16  $67.61 
5203 RUDDER CAM SCREWS H17/18/20  $30.35 
5204 RUDDER CAM KIT H17/18/20  $67.61 
6000 HOBIE BEACH TOWEL-ORANGE 35x60  $49.67 
6001 HOBIE BEACH TOWEL-LIME 35x60  $49.67 
6002 HOBIE BEACH TOWEL-YELLOW 35x60  $49.67 
6003 HOBIE BEACH TOWEL-AQUA 35x60  $49.67 
7003 MIRA ZYME 10 oz ODOR ELIMINATO  $15.17 
7904 VELCRO ONE WRAP 1" BLACK  $2.75 
8001 ROLLER FURLER KIT,H16  $892.86 
8002 SAIL H16 JIB REC - WHITE  $731.40 

10049 QUICK RELEASE LEVER 1/4  $136.61 
10072 MINI BLOCK  $13.79 
10075 SWV CAM CLEAT PLATE  $46.91 
10076 DECK EYE  $4.40 
10085 CONTOURED SPACER  $3.30 
13826 SPREADER BAR, HOBIE HARNESS  $45.33 
14709 TRAPEZE RIG RETURN SYSTEM  $120.05 
16703 CONTACT CEMENT  $22.07 
16706 RAIL KIT, H16 / H14 NEOPRENE  $124.19 
16707 NEOPRENE RACE STRIPS  $31.73 
16708 RAIL KIT,H18 NEOPRENE  $122.81 
20301 PIN, QR 3/16 X 3/4 CUP  $40.01 
20302 PIN, QR 1/4 X 3/4 CUP  $49.67 
20303 PIN, QR 1/4 X 1-1/4 RING  $42.77 
20304 PIN, QR 1/4 X 1 RING  $38.63 
20305 PIN, QR 1/4 X 1 CUP  $49.67 
20306 PIN, QR W/LANYD & SHACKLE  $67.61 
20307 PIN, QR 1/4 X 1-1/2 CUP  $57.95 
20310 QR WIRE KEEPER  $13.79 
20311 PIN, QR 3/16 X 3/4 RING  $37.25 
20312 PIN, QR 1/4 X 3/4 RING  $38.63 
20313 PIN, QR 3/16 X 1/2 RING  $37.25 
20314 PIN, QR 1/4 X 1/2 RING  $38.63 



20501 HAIRPIN COTTER 5/16" 302 SS  $1.09 
20502 HAIRPIN COTTER 3/8" 302 SS  $1.09 
20503 SAFETY PIN 1-9/16" LENGTH  $2.75 
20803 TOGGLE SNAP SHACKLE 2-3/4"  $34.49 
30101 EASY UP H14/16  $175.26 
30102 RIGHTING SYSTEM,EASY UP - H18  $162.84 
30105 EASY RITE H14/16/17  $114.53 
30106 EASY RITE H18/21  $114.53 
30107 RIGHTING BUCKET  $121.40 
30108 EASY RITE H20  $139.38 
30109 EASY RITE GETAWAY- REPLACEMENT  $99.35 
30110 HYDROFOILS H14/16  $224.94 
30112 MAST FLOAT KIT - MAMA UNIVERSA  $436.08 
30115 MAST FLOAT KIT WV/H14/16 "BABY  $245.64 
30116 MAST FLOAT ATTACH H14/16  $11.58 
30119 MAST FLOAT KIT "MAMA BOB" STD  $292.56 
30120 MOUNT KIT ONLY - MAMA UNIVERSA  $168.36 
30302 CLEVIS PIN SET WAVE/GTWY  $22.07 
30303 CLEVIS PIN SET H14/16  $24.83 
30306 SPARE PARTS KIT H16  $178.02 
30308 SPARE PARTS KIT WAVE/GTWY  $113.15 
30311 CONVENIENCE KIT H16  $191.82 
30314 SPARE PARTS KIT H17  $146.28 
50007 CAM CLEAT SW W/BULLSEYE  $111.77 
50009 SWIVEL CLEAT/H150/BUL EYE  $124.19 
50010 ADPTR PLATE W/HDWR FOR  $17.93 
50012 ROLLER FAIRLEAD KIT  $24.83 
50013 CAM CLEAT W/ROLLER  $133.85 
50014 TRAVELER TAMER KIT  $38.63 
50017 SWIVEL CAM CLEAT  $132.47 
65012 CALIF BLK MENS S/S T M  $28.97 
65013 CALIF BLK MENS S/S T L  $28.97 
65014 CALIF BLK MENS S/S T XL  $28.97 
65015 CALIF BLK MENS S/S T XXL  $28.97 
65022 CALIF CRM MENS S/S T M  $34.49 
65023 CALIF CRM MENS S/S T L  $34.49 
65024 CALIF CRM MENS S/S T XL  $34.49 
65025 CALIF CRM MENS S/S T XXL  $34.49 
65031 DIAMOND WHT MENS S/S T S  $28.97 
65032 DIAMOND WHT MENS S/S T M  $28.97 
65033 DIAMOND WHT MENS S/S T L  $28.97 
65034 DIAMOND WHT MENS S/S T XL  $28.97 
65035 DIAMOND WHT MENS S/S T XXL  $28.97 
65036 DIAMOND WHT MENS S/S T XXXL  $28.97 



65041 CLASSIC WHT MENS S/S T S  $28.97 
65042 CLASSIC WHT MENS S/S T M  $28.97 
65043 CLASSIC WHT MENS S/S T L  $28.97 
65044 CLASSIC WHT MENS S/S T XL  $28.97 
65045 CLASSIC WHT MENS S/S T XXL  $28.97 
65051 CLASSIC BLK MENS S/S T S  $28.97 
65052 CLASSIC BLK MENS S/S T M  $28.97 
65053 CLASSIC BLK MENS S/S T L  $28.97 
65054 CLASSIC BLK MENS S/S T XL  $28.97 
65055 CLASSIC BLK MENS S/S T XXL  $28.97 
65056 CLASSIC BLK MENS S/S T XXXL  $28.97 
65061 DIAMOND BLK MENS S/S T S  $28.97 
65062 DIAMOND BLK MENS S/S T M  $28.97 
65063 DIAMOND BLK MENS S/S T L  $28.97 
65064 DIAMOND BLK MENS S/S T XL  $28.97 
65065 DIAMOND BLK MENS S/S T XXL  $28.97 
65072 SCRIPT AHGRY MENS L/S T M  $37.25 
65073 SCRIPT AHGRY MENS L/S T L  $37.25 
65074 SCRIPT AHGRY MENS L/S T XL  $37.25 
65075 SCRIPT AHGRY MENS L/S T XXL  $37.25 
65082 SCRIPT CHAR MENS L/S T M  $37.25 
65083 SCRIPT CHAR MENS L/S T L  $37.25 
65084 SCRIPT CHAR MENS L/S T XL  $- 
65085 SCRIPT CHAR MENS L/S T XXL  $37.25 
65091 SCRIPT CHARH PO HOODIE S  $68.99 
65092 SCRIPT CHARH PO HOODIE M  $68.99 
65094 SCRIPT CHARH PO HOODIE XL  $68.99 
65095 SCRIPT CHARH PO HOODIE XXL  $68.99 
65111 SCRIPT OATH PO HOODIE S  $68.99 
65112 SCRIPT OATH PO HOODIE M  $68.99 
65113 SCRIPT OATH PO HOODIE L  $68.99 
65114 SCRIPT OATH PO HOODIE XL  $68.99 
65115 SCRIPT OATH PO HOODIE XXL  $68.99 
65121 SCRIPT BUORH PO HOODIE S  $68.99 
65122 SCRIPT BUORH PO HOODIE M  $68.99 
65123 SCRIPT BUORH PO HOODIE L  $68.99 
65124 SCRIPT BUORH PO HOODIE XL  $68.99 
65125 SCRIPT BUORH PO HOODIE XXL  $68.99 
65141 CALIF BUORH ZIP HOODIE S  $75.89 
65142 CALIF BUORH ZIP HOODIE M  $75.89 
65143 CALIF BUORH ZIP HOODIE L  $75.89 
65144 CALIF BUORH ZIP HOODIE XL  $75.89 
65145 CALIF BUORH ZIP HOODIE XXL  $75.89 
65151 CALIF OATH ZIP HOODIE S  $75.89 



65152 CALIF OATH ZIP HOODIE M  $75.89 
65153 CALIF OATH ZIP HOODIE L  $75.89 
65154 CALIF OATH ZIP HOODIE XL  $75.89 
65155 CALIF OATH ZIP HOODIE XXL  $75.89 
65171 FLY H HWHT LS LADIES SCOOP T S  $37.25 
65172 FLY H HWHT LS LADIES SCOOP T M  $37.25 
65173 FLY H HWHT LS LADIES SCOOP T L  $37.25 
65174 FLY H HWHT LS LADIES SCOP T XL  $37.25 
65181 FLY H VBLK LS LADIES SCOOP T S  $37.25 
65182 FLY H VBLK LS LADIES SCOOP T M  $37.25 
65183 FLY H VBLK LS LADIES SCOOP T L  $37.25 
65184 FLY H VBLK LS LADIES SCOP T XL  $37.25 
65192 FISHING CHAR/LIME S/S M  $43.46 
65193 FISHING CHAR/LIME S/S L  $43.46 
65194 FISHING CHAR/LIME S/S XL  $43.46 
65195 FISHING CHAR/LIME S/S XXL  $43.46 
65202 FISHING R BLUE/WHT S/S M  $43.46 
65203 FISHING R BLUE/WHT S/S L  $43.46 
65204 FISHING R BLUE/WHT S/S XL  $43.46 
65205 FISHING R BLUE/WHT S/S XXL  $- 
65211 UNISEX SKY BLU PO HOODIE S  $68.99 
65212 UNISEX SKY BLU PO HOODIE M  $68.99 
65213 UNISEX SKY BLU PO HOODIE L  $68.99 
65214 UNISEX SKY BLU PO HOODIE XL  $68.99 
65215 UNISEX SKY BLU PO HOODIE XXL  $68.99 
65221 UNISEX SKY BLU ZIP HOODIE S  $77.27 
65222 UNISEX SKY BLU ZIP HOODIE M  $77.27 
65223 UNISEX SKY BLU ZIP HOODIE L  $77.27 
65224 UNISEX SKY BLU ZIP HOODIE XL  $77.27 
65225 UNISEX SKY BLU ZIP HOODIE XXL  $77.27 
65231 BAJA STRIPE CHAR PO HOODIE S  $68.99 
65232 BAJA STRIPE CHAR PO HOODIE M  $68.99 
65233 BAJA STRIPE CHAR PO HOODIE L  $68.99 
65234 BAJA STRIPE CHAR PO HOODIE XL  $68.99 
65235 BAJA STRIPE CHAR PO HOODIE XXL  $68.99 
65241 BAJA STRIPE BURG PO HOODIE S  $68.99 
65242 BAJA STRIPE BURG PO HOODIE M  $68.99 
65243 BAJA STRIPE BURG PO HOODIE L  $68.99 
65244 BAJA STRIPE BURG PO HOODIE XL  $68.99 
65245 BAJA STRIPE BURG PO HOODIE XXL  $68.99 
72010 KEY FLOAT/SCUPPER PLUG  $5.23 
72035 QUICK STRAP SOFT RACK-24.0"  $51.05 
72040 QUICK STRAP RACK W/TIE DN  $93.83 
72041 MULTI STRAP SYSTEM  $48.29 



72044 PADS AERO BAR - 24"  $64.85 
72045 PADS ROOF RACK - 24"  $56.57 
72046 PADS ROOF RACK - 36"  $71.75 
72049 PADS AERO BAR - 36"  $80.03 
72050 KAYAK COVER / 9-12' 6"  $202.86 
72051 KAYAK COVER / 12-15'  $235.98 
72052 KAYAK COVER / 14-16'  $252.54 
72055 KAYAK COVER / PA 14 CUSTOM  $313.26 
72056 KAYAK COVER / PA 12 CUSTOM  $289.80 
72057 KAYAK COVER / PA 17 CUSTOM  $869.40 
72058 KAYAK COVER / AI CUSTOM 2015+  $520.26 
72059 KAYAK COVER / TI CUSTOM 2015+  $563.04 
72063 KAYAK COVER/OUTBACK CUSTOM '19  $335.34 
72065 ST-TURBO FIN KIT - GRAY/BLACK  $244.26 
74043 PADDLE ASSY 230 CM  $115.91 
74044 PADDLE ASSY 260 CM OS  $100.73 
74045 2 PCS ADJ HERITAGE SUP PADDLE  $164.22 
74046 3 PCS ADJ I-SUP PADDLE 2019+  $164.22 
74048 T-HANDLE PADDLE - 2019+  $28.97 
78501 QUEST 13 RUDDER KIT/TWIST N ST  $357.42 
78502 QUEST 11 RUDDER KIT/TWIST N ST  $357.42 
80024 BAG, MIRAGEDRIVE CARRY  $110.11 
81024 LINE 5/32" NYLON BRAID-BLACK  $0.54 
81029 LOOP STRAP, 1/4" OD, NYLON  $1.09 
81111 DECAL DOME M-DRIVE GT  $1.09 
81183 MIRAGEDRIVE 180 ARC STD  $1,299.96 
81184 MIRAGEDRIVE 180 ARC TURBO  $1,373.10 
81185 MIRAGEDRIVE 180 ARC STD-INFL  $1,270.98 
81205 CHAIN ASSY, ECLIPSE DRIVE  $127.50 
81380 CONTROL ARM - UP/DOWN  $34.49 
81538 CASSETTE PLUG, ECLIPSE/PASSPOR  $57.95 
83102 TOOL GERBER MULTI-PLIER 600  $109.01 
83103 TOOL,ALL PURPOSE  $11.44 
83104 TOOL, HOG RING PLIERS  $35.87 
83105 TOOL, CABLE CUTTER  $42.77 
83106 TOOL, SWAGE-IT  $56.57 
84503 SAIL KAYAK MAST 2-PC  $178.02 
84511 BATTEN KAYAK SAIL (55") W/CAP OS  $38.63 
84630 CRANK ASSY TPA REVERSIBLE PEDA  $45.33 
84631 PAD, UNI-DIR PEDAL  $3.57 
84950 BAG - KAYAK SAIL 128.0"  $117.29 

720621 FLOAT - SIDEKICK AMA-LT GRAY W  $80.03 
720631 FLOAT - SIDEKICK AMA-DK GREEN  $- 
777001 LOWRANCE READY PLATE ASSY, V2  $43.87 



777010 LOADER ASSY, 2019 OUTBACK  $36.55 
795465 SAIL ADV V2 WHT/GRAY/TURQ (AZU OS  $1,035.00 
795475 SAIL ADV V2 RED/GRAY/WHT (SMOK OS  $1,035.00 
795485 SAIL ADV V2 TURQ/PAPAYA/WHT (B OS  $1,035.00 
865140 SCREW 1/4-20 X 1-1/2 PAN HD PH  $2.01 

8000341 LOCTITE BLUE .5 ML CAPSULE  $8.82 
8000432 MAST GLUE KIT- BOND CTIP TO MA  $60.71 
8001821 HIKING STRAP, TRAMPS (PER YD)  $13.79 
8001850 WEBBING 2" BLACK  $1.92 
8003500 GELCOAT 1/2 PT-WHITE  $52.43 
8004321 LINE 3/16" SGL BRAID-BLACK  $0.54 
8004381 LINE 5 MM, DK GRAY w/MANGO TRA  $1.92 
8004531 LINE 1/8 NYLON BRAID BLK  $0.68 
8004631 LINE DINGHY LIGHT 5/16"  $2.75 
8004651 LINE DINGHY LIGHT 1/4"  $1.92 
8004811 SHOCKCORD, 1/4" SILVER  $1.09 
8004831 SHOCKCORD, 3/16" SILVER  $0.54 
8004951 LINE JIB HLYD AMSTEELBLUE (TM)  $3.30 
8005611 GELCOAT QUART-WHITE  $82.79 
8010020 RIVET 1/8 X 5/16, BRASS  $0.40 
8010051 RIVET 4-8 CSK ALUM  $0.40 
8010071 RIVET 3/16x 5/16 ALUM  $0.54 
8010121 RIVET POP 3/16x5/8 PH-SS  $1.92 
8010131 RIVET POP 3/16x3/8 PH-SS  $1.09 
8010151 RIVET, MASTHEAD SHEAVE SINGLE  $1.92 
8010181 RIVET POP 3/16x1/4 PH  $1.09 
8010201 RIVET 3/16 X 3/8" CSK  $1.92 
8010261 RIVET 3/16 x 3/16 SS  $1.09 
8011101 RIVET SEMI 3/16 x 9/16 ALUM  $0.54 
8011231 RIVET POP 3/16x1/2 PH  $1.09 
8011251 RIVET 3/16 x 1-1/8 PH-AL  $1.09 
8011281 RIVET 1/4 X 1 RH SOLID-302 SS  $2.75 
8011291 RIVET CAP  $1.09 
8012001 RIVET 6-9 BULB TYPE-KAYAK  $1.09 
8012062 RIVET SEMI 3/16x27/32 SS  $1.09 
8020021 CLEVIS PIN 3/16x.453 GRIP  $3.57 
8020030 CLEVIS PIN 3/16 X 7/8 GRIP  $1.09 
8020041 CLEVIS PIN 3/16x.570 GRIP  $2.75 
8020051 CLEVIS PIN 3/16x.709 GRIP  $3.57 
8020061 CLEVIS PIN 3/16x.753 GRIP  $2.75 
8020080 MAST STEP PIN, 3/16 X 2.125 SS  $13.79 
8020101 CLEVIS PIN 5/16 x 2.032 GRIP  $13.79 
8020181 QUICK PIN 1/4"X1-1/2"  $13.79 
8020340 CLEVIS PIN 3/16x1.062 GRP  $2.75 



8020351 CLEVIS PIN 1/4x.3285 GRIP  $2.75 
8020361 CLEVIS PIN 1/4x.675 GRIP  $2.75 
8020371 CLEVIS PIN 1/4x.469 GRIP  $2.75 
8020381 CLEVIS PIN 1/4x.578 GRIP  $2.75 
8020391 CLEVIS PIN 1/4x.8285 GRIP  $3.30 
8020411 CLEVIS PIN 1/4x1.0785 GRIP  $3.57 
8020421 CLEVIS PIN 1/4x1.141 GRIP  $3.57 
8020431 CLEVIS PIN 1/4x1.328 GRIP  $6.33 
8020451 DETENT RING PIN 1/4 X 2  $8.82 
8020461 DETENT RING PIN 1/4" X 1-1/8"  $8.82 
8020501 CLEVIS PIN,1/4X3-1/2 MAST  $6.33 
8020601 CLEVIS PIN 5/16 X 1 3/8  $3.30 
8030001 SCREW 12-24 X 1" PHMS-P SS  $0.40 
8030027 SCREW 10-32 X .5 SKT HD CAP NY  $0.54 
8030029 SCREW #10 x 1/2" PLASTITIE BLK  $1.09 
8030031 SCREW #10x3/4 OHSMS-P  $0.54 
8030037 SCREW #6-32 x 3/4 PHMS  $0.40 
8030071 SCREW 10-32 X 1/2 FHMS  $0.54 
8030111 SCREW 10-32 X 1 PHMS-P SS  $0.54 
8030125 SCREW 10-32 x 1/2 BTN HD SCKT  $2.75 
8030126 SCREW 10-32 x 3/8 FLNG BTN HX  $2.75 
8030131 SCREW 10-32 X 7/8 PHMS SS  $1.09 
8030151 SCREW 10-32 x 1/2 PHMS-P SS  $0.54 
8030161 SCREW 10-32 X 1-1/2 PHMS-P SS  $0.54 
8030162 SCREW 10-32 x 1-3/4 FHMS SS  $0.54 
8030171 SCREW 12-24 X 3/4 RHMS-P SS* (  $1.09 
8030201 SCREW #10x1 FHSMS-P SS  $0.54 
8030211 SCREW 1/4-20 X 1" RHMS-PH SS  $1.09 
8030212 SCREW 1/4-20 X 1" OHMS-PH SS  $1.09 
8030214 SCREW 1/4-20 x 1" BTN HD  $1.09 
8030231 SCREW 10-32 x 3/8 P-THMS  $0.54 
8030241 SCREW 10-32x1-1/2 FHMSP  $0.54 
8030251 SCREW 10-32 X 1" FHMS  $0.54 
8030261 SCREW #10 X 1-1/4 PHSMS-P  $0.68 
8030281 SCREW 10-32 X 3/4" RHMS-P SS  $0.54 
8030285 SCREW 10-32 X 5/8" FLMS-P  $0.40 
8030291 SCREW 5/16-18 X 2" PHMS-P SS  $2.75 
8030301 SCREW 5/16-18 X 1-1/4 RHMS SS  $1.92 
8030311 SCREW 5/16-18x 1-1/2 RHMS  $2.75 
8030331 SCREW 1/4-20 X 5/8 PHMS-P SS  $1.09 
8030335 SCREW 1/4-20 x 3/4 HX SCKT CAP  $0.68 
8030346 SCREW W/NUT ISLAND GUDGEON  $15.17 
8030355 SCREW 5/16-24 x 3/4 BTN HD SCK  $1.92 
8030361 SCREW 5/16-18 X 1-1/4 SOC HD  $1.92 



8030382 SCREW, 1/4-20 x 7/8" BUTTON HE  $4.40 
8030401 GUDGEON SCREW PKG OF 16  $52.43 
8030402 SCREW 12-24x1 PH-LONG LOK*  $3.30 
8030422 SCREW 1/4-20x1 PH-LONG LOK*  $5.23 
8030451 SCREW 1/4-20 X 1-3/4 SCKT HD  $2.75 
8030501 SCREW 8-32 X 3/8" THMS-P SS  $0.40 
8030502 SCREW 8-32 X 3/8 PMMS  $0.40 
8030551 SCREW 8-18x1/2 FLT HD DRL BLK  $0.40 
8030591 SCREW 1/4-20 x 1-5/8 P-OHMS w/  $6.33 
8030601 SCREW 1/4-20 X 1-5/8 THMS  $1.09 
8030620 SCREW #10 X 1 3/4 PHSMS-PSS  $0.54 
8030641 SCREW 10-32 X 1/2 THMS-P SS  $0.54 
8030671 SCREW 8-32 X 5/8 PHMS-P  $0.40 
8030701 SCREW 1/4-20 X 1" THMS-P SS  $1.09 
8030711 SCREW 1/4-20 X 3/8 RHMS-P SS  $1.09 
8030781 SCREW 1/4-20 X 1/2" SOC CAP  $1.09 
8030791 SCREW 1/4-20 X 5/8 SOC CAP  $1.09 
8030981 SCREW 10-32 x 3/4 PHPMS  $0.54 
8030991 SCREW 10-32 X 3/4" P-FHMS  $0.54 
8031011 SCREW 10-24 X 1-1/4" FHMS-S SS  $1.09 
8031032 SCREW, 10-16x1" SELF-TAP S.S.  $1.92 
8031033 SCREW, 10-16x1 1/2" SELF-TAP S  $1.92 
8031065 SCREW 10-32 x 7/8" THMS-P  $0.54 
8031069 SCREW 10-32x 1-1/4 THMS-P  $1.09 
8031071 SCREW 10-32 X 1-1/4 PHMSP  $1.09 
8031081 SCREW 10-32 x1 3/4 PHMS-S SS  $1.09 
8031111 SCREW 1/4-20x1 PHMS -P  $1.09 
8031131 SCREW #10x 3/4 PHSM-PH SS( ABA  $0.54 
8031151 SCREW #10 X 1/2 PHSMS-P  $0.54 
8031191 SCREW 1/4-20 X 1-1/4"PHMS  $1.09 
8031201 SCREW 8-32 X 1-1/4 SOC SET CUP  $2.75 
8031231 SCREW 8-32 X 7/8" FHMS  $0.40 
8031401 SCREW 6-32x1/2 FHMS-P SS  $0.40 
8031451 SCREW #8-32 x 5/16 P-THMS SS  $0.40 
8031461 SCREW 8-32 x 1" PHMS  $0.54 
8031481 SCREW 8-32 X 1-1/4 PHMS-P  $0.40 
8031490 SCREW 8-32 X 1/2 FHMS-P  $0.40 
8031501 SCREW 8 X 3/4" FHSMS-P SS  $0.54 
8031511 SCREW 8 X 1 FHSMS  $0.40 
8031541 SCREW 8 X 3/4" PHSMS-P SS  $0.40 
8031581 SCREW #8 X 5/8" PHSMS-SS PH  $0.54 
8031611 SCREW #8 x 3/8 PHSMS PH 316 SS  $0.40 
8031612 SCREW M4 x 10mm P-PAN M/S S/S  $0.40 
8031731 SCREW 8 X 1 PHSMS-P SS  $0.54 



8031771 SCREW 5/16-18 X 7/8 SOC HD-CAP  $1.92 
8031781 SCREW 5/16-18 X 1 E/S SOC  $1.92 
8031810 STUD 5/16-18 X 1-1/4" 18-8 SS  $2.75 
8031811 STUD 5/16-18 X 1-1/4" 18-8 SS  $4.40 
8031821 SCREW 5/16-24 X 2 SKT SET *  $13.79 
8031891 SCREW #14 X 3/4 P-PHSMS  $0.54 
8031950 SCREW #10 X 5/8 FHSMS-P SS  $0.54 
8031961 SCREW 12-24 x 1-1/4 P-OHMS SS  $1.09 
8032001 SCREW 3/8-16 X 3/4 DELRIN  $6.61 
8032011 SCREW 1/4-20x1/2 RHMS-P SS  $1.09 
8032061 SCREW 1/4-20x1 1/4 PHPMS  $1.09 
8032081 SCREW 1/4-20 X 1-1/4 CAP SCREW  $1.09 
8032085 SCREW 1/4-20 X 1-1/4 FHMS-P  $1.09 
8032088 SCREW 1/4-20 x 2-1/4 HX CAP  $13.79 
8032091 SCREW 3/8-16 x1/2 NYLON PHMS-S  $1.92 
8032121 SCREW #10 x 1 PHSMS-P TF-12  $0.54 
8032211 SCREW 10-32 X 2-1/2 PHMS  $1.09 
8032221 SCREW 5/16-18x2-1/2 SOC-HD CAP  $5.23 
8032231 SCREW 1/4-20 X 1-1/4 BTN HD  $1.92 
8032241 SCREW 1/4-20 X 3/4 BTN HD  $1.92 
8032401 SCREW 10-24x1/4 PHMS-P SS  $0.54 
8034061 ALLEN WRENCH 1/8"  $1.09 
8034071 ALLEN WRENCH 5/64"  $0.54 
8040001 BOLT 1/4-20x1 1/2  $1.09 
8040011 BOLT 1/4-20 X 1-3/4 HX HD SS  $1.09 
8040021 BOLT 1/4-20 X 7/8 HX HD SS  $1.09 
8040022 BOLT 1/4-20 x 2 HX HD C/S SS  $1.09 
8040051 BOLT 1/4-20 X 3" HEX HD SS  $1.09 
8040061 BOLT 3/8-16 X 5"  $3.57 
8040081 BOLT, 5/16-18 X 3/4"  $1.92 
8040111 BOLT 1/4-20 X 5 HEXCAP  $1.09 
8040131 BOLT 1/4-20 X 3 1/2  $1.09 
8040132 T-BOLT, 1/4-20 x3/4"  $6.33 
8040171 BOLT 5/16-18 X 1 HEX HD SS  $1.92 
8040301 BOLT 5/16-18 X 1-1/4 SS  $1.92 
8040321 BOLT 5/16-18 x 2-1/2" HX HD  $2.75 
8040331 BOLT 5/16-18 X 2" HX HD  $1.92 
8040341 BOLT 5/16-18 X 2-3/8 HEX SS  $3.30 
8040361 BOLT 3/8-16 x 3-1/2 " HX HD  $3.30 
8040371 BOLT 5/16-18 X 3 7/16  $3.30 
8040381 BOLT 5/16-18 X 3-3/4  $3.30 
8040391 BOLT 5/16-18 x 2-3/4" HX HD  $2.75 
8040401 BOLT 5/16-18x3" HX HD 18-8 SS  $1.92 
8040501 BOLT 3/8-16 X 2"  $1.92 



8040521 BOLT 3/8-16 X 2-1/2 SCK H  $6.33 
8040531 BOLT 3/8-16 X 1-1/2  HEX CAP-S  $1.92 
8040561 BOLT 3/8-16 X 3-3/4 SOCHD (CUS  $49.67 
8040600 SCREW 3/8-16 x 4" PHMS-P  $6.61 
8040731 BOLT 1/2-13 X 3-5/8" SS*  $17.93 
8041111 BOLT 1/4-20x2-3/4 HX HD MS-SS  $1.09 
8050101 NUT 1/4-20 NYLOCK LOPRO  $0.54 
8050111 NUT 1/4-20  HX NYLOCK  $0.54 
8050121 NUT 1/4-20 CNTRLOCK SS  $1.92 
8050122 NUT 1/4-20 THUMB  $1.92 
8050151 NUT 5/8-18 HEX FIN JAM SS  $2.75 
8050201 NUT 10-32 HEX NYLOCK  $0.40 
8050211 NUT 10-32 NYLOCK LOPRO  $0.40 
8050221 NUT (WELL NUT) 10-32 x1  $2.75 
8050301 NUT 5/16-18 NYLON  $1.09 
8050311 NUT 5/16-18 NYLOCK STD  $1.09 
8050331 NUT 5/16-18 HX  NYLOCK LP  $1.09 
8050341 NUT 5/16-24 NYLOCK LOPRO  $1.09 
8050421 NUT #12-24 NYLOCK,HEX  $1.09 
8050511 NUT 3/8-24 NYLOCK HEAVY  $1.09 
8050521 NUT 3/8-16 NYLOCK  $1.09 
8050540 NUT 3/8-16 HX NYLOCK-LP  $1.09 
8050601 NUT 1/2-13 NYLON HEX FIN  $1.92 
8050631 NUT 1/2-13 NYLOCK LO-PRO SS  $3.30 
8050801 NUT 8-32 MACH/SCREW SS  $0.40 
8051301 NUT 10-32 SQUARE SS  $0.40 
8052081 NUT 1/4-20 NYLON BLK  $0.54 
8060001 COTTER PIN 1/16 x 1/2 SS  $0.26 
8060101 COTTER PIN 3/32 X 1/2 SS  $0.40 
8060111 COTTER PIN 3/32  X  3/4 SS  $0.40 
8060121 COTTER PIN 3/32 X 2 SS  $0.40 
8060141 COTTER PIN 1/8" X 2" SS  $1.09 
8060151 RETAINING CLIP, "E" TYPE  $1.09 
8061011 NYLINER 3/8 D X 3/8  L  $1.92 
8061101 NYLINER 1" ID X 1.094 LG  $7.44 
8062001 BUSHING,RUDDER CSTG PKG OF 4  $40.01 
8062501 RING, RETAINING DARBY #1400-10  $6.61 
8062511 RING,RETAINER,DARBY 1400-143  $8.82 
8062521 RING,RETAINER  $6.61 
8063001 SLEEVE NICROPRESS 1/16"  $0.40 
8063271 SLEEVE STOP 3/32 WIRE  $1.09 
8063281 SLEEVE, STOP 1/8-COPPER  $1.09 
8063501 SLEEVE NICROPRESS 1/8"  $1.92 
8063751 SLEEVE NICROPRESS 5/32"  $1.92 



8063761 SLEEVE, NICROPRESS 3/32"  *  $1.09 
8080011 WASHER,STAR LOCK,8 EXT  $0.26 
8080021 WASHER,STAR LOCK,12 INT.  $0.26 
8080101 WASHER 1/4 X 1/2" LOCK  $0.26 
8080131 WASHER 3/16 x 3/4 x .060 THK  $0.40 
8080151 WASHER 3/8 LOCK  $0.54 
8080181 WASHER 5/16 X 9/16 FLAT  $0.26 
8080211 WASHER #12 FLAT  $0.26 
8080461 WASHER #10 FLAT-.25 OD X .56 I  $0.68 
8080481 WASHER 5/16 SPRING  $0.54 
8080500 WASHER #10 FINISH  $0.26 
8080541 WASHER 1/4 X 5/8 FLAT SS  $0.26 
8080551 WASHER-FLAT .227 X .453 SS  $0.26 
8080561 WASHER 1/4 X 1/2 X .032 SS  $0.26 
8080571 WASHER FLAT 1/4x3/4x.063 SS  $0.40 
8080581 WASHER 3/8" HC SPLIT-LOCK  $0.54 
8080611 WASHER  FLAT 3/8 X 3/4 SS  $0.40 
8080612 WASHER M4 LOCK SPLIT S/S  $0.26 
8080631 WASHER 3/8 X 1 X .062 NYL TRIF  $0.54 
8080671 WASHER 5/16 X 3/4 FLAT SS  $0.26 
8080681 WASHER 5/16 X 1/2 X .030 NYLON  $0.26 
8080691 WASHER 3/8 X 3/4 NYLON-FLAT  $0.54 
8080701 WASHER 1/4 X 1 SS HP  $0.40 
8080711 WASHER 5/8 x 1-5/16 SS  $1.09 
8080731 WASHER #10 FNDR SS  $1.09 
8080891 WASHER 11/16 X 5/16 X .065 SS  $0.54 
8080901 WASHER 1/4 X 3/4 FLAT-NEOPRENE  $1.09 
8081011 WASHER 5/8 X 1" NYLON  $1.09 
8090900 COMPTIP CAPLUG  $0.26 
8450759 THUMB SCREW 1/4-20 X 3/4 BLK N  $1.15 

10060000 PLUG, MAST & PYLON  $7.44 
10091000 DRAIN PLUG W/GASKET  $8.96 
10092000 DRAIN PLUG HOUSING  $3.30 
10092010 DRAIN PLUG-EACH  $7.44 
10092025 GASKET-BLACK RUBBER  $1.92 
10092030 DRAIN PLUG w/GASKET- SEAT: KON  $6.33 
10092100 DRAIN PLUGS-PKG 100  $743.82 
10092120 DRAIN PLUG GASKET-PKG/100  $191.82 
10131910 XBAR H14 FWD BLACK OS  $625.14 
10140000 PYLON VENT TUBE  $11.58 
10152011 CORNER CSTG H16 RACE L/FWD #1  $357.42 
10162011 CORNER CSTG H16 RACE R/FWD #2  $357.42 
10170011 MAST STEP H14/WV BLACK  $193.20 
10191910 XBAR H14 AFT W/O CAST BK (INTE OS  $808.68 



10202011 CORNER CSTG H16 RACE R/R #3  $320.16 
10212011 CORNER CSTG H16 RACE L/R #4  $320.16 
10261000 CLEAT, STNLS V-JAMMING  $38.63 
10262000 CLEAT, BARREL  $13.79 
10270011 SIDEBAR H14 LEFT BLACK OS  $320.16 
10280011 SIDEBAR H14 RIGHT BLACK OS  $320.16 
10300000 CHAIN PLATE, "TURBO"  $23.45 
10311900 RUDDER LOCKING KIT H14/16  $34.49 
10352011 UPR RDR CSTG H14/16 LEFT  $361.56 
10362011 UPR RDR CSTG H14/16 RIGHT  $361.56 
10382010 TILLER ARM H14 STRGHT BLK  $67.61 
10400010 TILLER END CAP  $24.83 
10412011 LWR RDR CSTG H14/16 BLK  $336.72 
10430000 SPRING RUDDER CASTING  $14.48 
10432000 SPRING H16 LWR CASTING  $14.48 
10440000 PLUNGER,RUDDER H14/16  $7.44 
10470000 CAM PIN RUDDER CASTING  $13.79 
10480000 CAM  $19.31 
10520011 TILLER XBAR H14 BLACK OS  $292.56 
10532010 TILLER EXTENTION HINGE  $19.31 
10532020 TILLER EXTENTION YOKE  $13.79 
10560000 CAP-ROUND POLYETHYLENE, BLACK  $3.30 
10581100 MAST ASSY H14 BLACK OST  $2,931.12 
10582100 COMPTIP H14 OS  $1,059.84 
10602111 MAST HEAD,H14 COMPTIP  $168.36 
10640011 MAST BASE H14/WV BLACK  $85.55 
10651001 HALYARD - H14 (NON COMPTIP)  $117.29 
10657001 HALYARD - H14 (COMPTIP)  $168.36 
10670000 SHACKLE, HALYARD  $23.45 
10680000 HOOK, HALYARD (12 GA)  $19.31 
10690000 MAST TANG H14/WV  $30.35 
10700000 SHACKLE "BOW" 6.4 MM  $14.34 
10730000 CLEAT-MAST  $13.79 
10730021 CLAMCLEAT STBD BLACK  $11.44 
10730031 CLAMCLEAT PORT BLACK  $11.44 
10740011 BOOM CAP,H14/16/21SC FWD  $63.47 
10741031 BOOM CAP,H14/16 AFT BLACK  $48.29 
10760000 BLOCK HANGER  $13.79 
10770001 GOOSENECK ASSY H-14,16  $96.59 
10772001 GOOSENECK SLIDE  $34.49 
10772010 GNECK BOOM PIN (W/RL PIN)  $31.73 
10772020 GOOSENECK SHACKLE  $13.79 
10772070 GOOSENECK DOWNHAUL RING  $15.17 
10792100 WIRE SHROUD H14 BLACK  $63.47 



10810010 WIRE FORESTAY H14T UPPER  $155.94 
10812101 WIRE FORESTAY H14 BLACK  $64.85 
10822010 WIRE BRIDLE H14 TURBO BLK  $73.13 
10822101 WIRE BRIDLE H14 BLACK  $53.81 
10860001 LOCK RING 3/16"  $0.71 
10860100 LOCK RING 3/16" - 100 PACK  $56.57 
10870000 SHACKLE "BOW" 4.7 MM  $12.68 
10881000 RUDDER PIN H14, NYLON  $24.83 
10970000 TRAMP SET H14 WHITE  $709.32 
10970055 TRAMP SET H14 BLACK MESH  $774.18 
10970058 TRAMP SET H14 TURQ MESH  $774.18 
10990010 SAIL H14 MAIN WHITE  $1,533.18 
10990099 SAIL H14 MAIN - CUSTOM  $1,854.72 
10992511 SAIL H14 JIB WHITE  $663.78 
11070000 BLOCK, H16 JIB HALYARD  $31.73 
11110005 MAST BEARING, PKG OF 3  $15.17 
11110100 MAST BEARING, PKG OF 100  $491.28 
11140011 TURBO STRIKER CASTING  *  $- 
11170000 DOLPHIN STRIKER-WIRE H14  $186.30 
11170030 DOLPHIN STRIKER ROD H14  $142.14 
11220000 SHACKLE STND "D" 4.7 MM  $13.10 
11322011 BATTEN CAP-LUFF  $5.23 
11323000 BATTEN CAP-LEACH (2 holes)  $7.44 
11470000 DEAD EYE  $4.40 
11510000 TILLER CONN.,HALF SPHERE  $1.92 
11520005 TILLER CONNECTOR KIT  $22.07 
11540000 TILLER CONNECTOR,SPRING  $7.44 
11840100 TRAVELER HINGE  $34.49 
11850000 TRAVELER,HINGE WIRE  $4.40 
11860000 TRAVELER SPACER  $4.40 
11870000 TRAVELER,DECK PLATE  $7.44 
11880000 TRAVELER SHEAVE  $6.33 
11901010 PAD FOR 240/241 SWVL BASE  $13.79 
11952021 FAIRLEAD REPLACEMENT KIT  $26.21 
12240000 TACK/CLEW PLATE SET  $24.83 
12430001 DECAL, SAIL HOBIE "H"-WHT  $38.63 
12430011 DECAL HOBIE SAIL"H" BLACK  $38.63 
12440000 DECAL, SAIL H14  $13.79 
12450016 DECAL BRAVO  $19.31 
12451031 DECAL "HOBIE" DIAMOND-TURQ/SLV  $74.51 
12451050 DECAL "HOBIE" SCRIPT BLACK  $13.79 
12451051 DECAL "HOBIE" SCRIPT WHT  $13.79 
12451061 DECAL "HOBIE" DIAMOND-SLVR/GRA  $64.85 
12452121 DECAL HOBIE CAT 16 (BLK/SLVR)  $13.79 



12453011 DECAL - HOBIE KAYAKS  $5.23 
12453021 DECAL - HOBIE KAYAK FISHING  $6.61 
12453023 DECAL, HOBIE SCRIPT CHROME/BLK  $5.23 
12453024 DECAL, 12" HOBIE FISHING BLACK  $11.58 
12453025 DECAL, 12" HOBIE FISHING WHITE  $11.58 
12453026 DECAL 12" HOBIE SAILING BL/RD/  $5.23 
12453031 DECAL - HOBIE CAT TEQ  $13.79 
12480000 MAIN BATTEN POCKET PROTECTOR (  $14.48 
12480001 HOBIE POCKET PROTECTOR KIT  $17.37 
12700030 SAIL NUMBER 14" #0 BLACK  $16.55 
12710030 SAIL NUMBER 14" #1 BLACK  $16.55 
12720030 SAIL NUMBER 14" #2 BLACK  $16.55 
12730030 SAIL NUMBER 14" #3 BLK.  $16.55 
12740030 SAIL NUMBER 14" #4 BLK.  $16.55 
12750030 SAIL NUMBER 14" #5 BLK.  $16.55 
12760030 SAIL NUMBER 14" #6/9 BLK.  $16.55 
12770030 SAIL NUMBER 14" #7 BLK.  $16.55 
12780030 SAIL NUMBER 14" #8 BLACK  $16.55 
13001001 DECAL BOW - FLYING "H" BLK  $15.17 
13440000 DECAL, MAST CAUTION. BLK  $2.75 
13440010 DECAL, MAST CAUTION/ORNG  $2.75 
13450000 ASSEMBLY MANUAL H14  $8.82 
13780000 TRAMP LACE STRIP H14/16 WHITE  $147.66 
13780055 TRAMP LACE STRIP H14/16 BLACK  $147.66 
20060000 MAST FOAM PLUG - H16  $8.82 
20100000 ANCHOR PIN  $55.19 
20120000 BOW TANG H14/16  $16.55 
20132031 SHEAVE H16 JIB TRAV  $13.79 
20140001 DOLPH STRIKER POST H16/14  $92.45 
20170001 DOLPHIN STRIKER ROD H16 OS  $151.80 
20200011 MAST STEP,H14/16 BLACK  $193.20 
20210000 TWIST TOGGLE  $22.13 
20240001 BLOCK H16/18 JIB HALYARD  $115.91 
20250000 TRACK - H16 JIBSHEET BLOCK  $40.01 
20260000 TRACK END CAP 5/8"  $11.44 
20270011 SIDE BAR H16 BLACK OS  $324.30 
20352000 RUDDER CAM STOP PLATE  $49.67 
20382011 TILLER ARM H16 STR  BLACK  $66.23 
20400001 BATTEN SET H16 JIB OS  $168.36 
20490030 RUDDER BLADE EPO-3  $825.02 
20491000 RUDDER BLADE EZ LOC w/INDENTS  $258.06 
20492021 EZ LOC PLUNGER - LWR RDR HOUSI  $12.68 
20493000 RUDDER BLADE - WHITE NYLON  $258.06 
20520011 TILLER XBAR H16/17/18 BLK OS  $282.90 



20521001 TILLER XBAR H16/17/18 '95 OS  $336.72 
20550001 TILLER EXTENSION H14/16  (84") OS  $260.82 
20610000 MAST ASSY H16 BLACK OST  $3,044.28 
20611100 COMPTIP H16 OS  $1,201.98 
20614001 MAST HEAD H16 COMPTIP  $193.20 
20614210 SHEAVE 2-1/4" OD BLACK DELRIN  $13.79 
20614231 SPACER MSTHD SHEAVE-16  $5.23 
20616001 LUFF TRACK 92-7/8"-H16 OS  $150.42 
20617001 HALYARD - H16 MAIN (COMPTIP)  $140.76 
20640011 MAST BASE H16 BLACK  $117.29 
20651011 HALYARD - H16 MAIN (NON COMPTI  $103.49 
20661001 WIRE JIB HALYARD ASSY H16  $143.52 
20680000 SHEET BLOCK  $35.87 
20690000 MAST TANG H16/17/18  $75.89 
20700001 SHACKLE BOW 5/16 PIN  $35.87 
20710000 BLOCK, H16 MAST CHEEK  $34.49 
20720011 BOOM H16 BLACK OS  $763.14 
20730001 TRAPEZE SHOCKCORD H14T/16  $15.17 
20730002 TRAP SHCKCD W/HOOK H14/16  $22.07 
20742001 WIRE H16 TRAPEZE W/ BLOCK (EA)  $93.83 
20760000 THIMBLE 5/32"  $4.40 
20781001 LINE PKG, H16  $460.92 
20782001 MAINSHEET H16  44' 9mm MAGIC  $118.67 
20782002 JIBSHEET H16 32' 7mm MAGIC LIT  $62.09 
20792011 WIRE SHROUD H16/17/SPT BLK  $62.09 
20800000 THIMBLE 1/8"  $2.75 
20810011 WIRE FORESTAY H16 UPR  $28.97 
20810021 WIRE FORESTAY H16 LWR BAR  $48.29 
20810031 WIRE FORESTAY - H16 AUSSIE  $56.57 
20810041 WIRE FORESTAY UPPER - H16  AUS  $75.89 
20812011 WIRE FORESTAY H16 LWR BLK  $56.57 
20820011 WIRE BRIDLE H16 WHITE  $35.87 
20822011 WIRE BRIDLE H16 BLACK  $35.87 
20830010 ADJUSTER 1/4" 7 HOLE - SHROUD/  $19.31 
20830020 ADJUSTER 1/4" 10 HOLE - SHROUD  $23.45 
20840000 SAILMAKERS THIMBLE 5/32  $13.65 
20860000 LARGE CLEVIS RING  $0.68 
20860100 LARGE CLEVIS RING / 100 PACK  $59.33 
20880001 RUDDER PIN ALUM - H14/16  $23.45 
20880011 RUDDER PIN S.STEEL - H14/16  $27.59 
20970000 TRAMP SET H16 WHITE  $644.46 
20970055 TRAMP SET H16 BLACK MESH  $774.18 
20970058 TRAMP SET H16 TURQ MESH  $774.18 
20970059 TRAMP SET H16 GRAY MESH  $774.18 



20991011 SAIL H16 MAIN WHITE  $1,726.38 
20991089 SAIL H16 MAIN TORTOLA  $1,839.54 
20991090 SAIL H16 MAIN CAYMAN  $1,839.54 
20991991 SAIL H16 MAIN - CUSTOM  $2,082.42 
20992010 SAIL H16 JIB WHITE  $709.32 
20992089 SAIL H16 JIB TORTOLA  $792.12 
20992090 SAIL H16 JIB  (CAYMAN)  $792.12 
20992310 SAIL H16 JIB WHITE - VELCRO RA  $953.58 
20992991 SAIL H16 JIB - CUSTOM  $1,000.50 
20999020 SPIN KIT H16 / GTWY SNUFFER, P OS  $2,873.46 
20999201 GENNAKER KIT - H16 WHITE  $2,491.02 
20999210 GENNAKER - H16 WHITE  $1,376.19 
21000001 BATTEN SET H16 MAIN OS  $451.26 
21090001 MAST SEAL PLATE,H16  $7.44 
21180000 HOG RING 1/2" S/S, BLUNT, 14 G  $0.40 
21180010 HOG RING 5/8" SS,BLUNT, 14 GA  $0.26 
21230000 CAR JIBSHEET W/BLOCK H16  $151.80 
21310000 BAG SAIL & BOOM STANDARD  $110.11 
21333000 BATTEN CAP JIB-SINGLE  $4.40 
21380001 MAST STEP LINK KIT H14/16  $38.63 
21900030 BRIDLE WIRE H16 ROLLER FUR  $91.07 
22080011 JIB BATTEN PKT PROT W/SCREWS  $5.23 
22080905 LUFF BATTEN PROTECTOR KIT- JIB  $11.58 
22090001 JIB HANK W/ SCREW  $4.40 
22240000 JIB CLEW PLATE (5 HOLE)  $27.59 
22330000 DECAL SAIL - H16 CLASS INSIGNI  $13.79 
23450000 ASSEMBLY MANUAL H16  $11.44 
25131910 XBAR H16 FWD W/STEP OS  $561.66 
25191911 XBAR H16 AFT OS  $488.52 
25231051 JIB CAR STOP H16 (INT TRACK)  $6.33 
25232201 JIB TRAV CAR LT - BRASS WHEELS  $212.52 
25232211 JIB TRAV CAR RT - BRASS WHEELS  $212.52 
25243003 JIB CAR SLIDE-ONLY W/ WHEELS  $107.63 
25244001 JIB CAR - PLATE ONLY  $26.21 
30110001 MAST STEP BALL-GTWY/20/21  $38.63 
30740001 RUDDER PIN H21/SC  $26.21 
31110001 COMPRESSION SLEEVE,H21/SC  $26.21 
31800001 TRAVELER CAR ASSY H20/21SC  $612.72 
36601000 DECAL  FLYING "H" SMALL BLK  $5.23 
36601011 DECAL  FLYING "H" SMALL WHT  $5.23 
36970000 TRAMP SET H21SC MAIN - WHITE  $1,450.38 
36980055 TRAMP H21SC FWD-BLACK MESH  $1,268.22 
37001020 GTWY SUS MESH WING ASSY, TURQ OS  $2,281.14 
37001030 GTWY SUS MSH WNG ASSY '17+, GR OS  $2,281.14 



37016001 BATTEN SET GETAWAY OS  $300.84 
37091001 WING TENSION  LEG GETAWAY  $151.80 
37101001 WING LEG GTWY  $77.27 
37131710 XBAR GETAWAY FWD ASSY 17+ OS  $1,571.82 
37131910 XBAR GETAWAY FWD ASSY OS  $1,571.82 
37140001 TRAPEZE RIG KIT GETAWAY  $231.84 
37151041 END CAP FWD XBAR CSTG P/S GTWY  $133.85 
37170001 STUD MAST STEP GETAWAY  $40.01 
37191710 XBAR GETAWAY AFT ASSY 17+ OS  $897.00 
37191910 XBAR GETAWAY  AFT ASSY OS  $897.00 
37201021 CSTG AFT XBAR END CAP GETAWAY  $77.27 
37312000 GETAWAY EZ LOC RUDDER ASSY - A OS  $732.78 
37321111 TILLER ARM GETAWAY  $56.57 
37341011 TRAMP TRACK MAIN GETAWAY OS  $186.30 
37342011 TRAMP TRCK FWD GETAWAY OS  $186.30 
37370031 GASKET COOLER COVER MOUNT  $- 
37370036 TUBE FITTING, NYLON MULTI-BARB  $4.40 
37371038 PLUG ASSY - GETAWAY COOLER  $13.23 
37380001 CLAMCLEAT MINI CL204  $22.07 
37382011 TILLER ARM GETAWAY EZLOC  $115.91 
37450011 ASSEMBLY MANUAL GETAWAY  $8.82 
37500001 BOW SPREADER GETAWAY OS  $361.56 
37500021 PLATE GTWY BOW SPRDR  $7.44 
37500031 END BLOCK GTWY BOW SPRDR  $19.31 
37501701 BOW SPREADER GETAWAY 17+ OS  $361.56 
37521701 TILLER XBAR GTWY EZ LOC 17+ OS  $266.34 
37522001 TILLER XBAR GTWY - TENDON/ALUM OS  $264.96 
37523001 TILLER XBAR GTWY - TENDON/EZ L OS  $264.96 
37524001 TILLER XBAR GTWY - '07/EZ LOC OS  $266.34 
37561001 TILLER END CAP (TENDON STYLE)  $8.82 
37561011 TENDON GTWY/WV - KIT  $22.07 
37561200 TLR END CAP, w/HOLE (UAI)  $14.48 
37561203 TLR END CAP, PIN ASSY (UAI)  $20.27 
37583141 MAST GETAWAY LOWER  T/F OST  $1,541.46 
37601001 MAST HEAD ASSY GTWY  $151.80 
37610000 MAST ASSY GETAWAY OST  $3,020.82 
37611001 SHEAVE GTWY MAST HEAD  $23.45 
37611100 COMPTIP GETAWAY OS  $1,498.68 
37611151 LUFF TRACK GTWY 102.0" OS  $184.92 
37641001 MAST BASE CSTG GETAWAY  $117.29 
37651001 HALYARD MAIN GETAWAY  $143.52 
37660031 WING END CAP LF/RR GTWY  $157.32 
37660041 WING END CAP RF/LR GTWY  $151.80 
37661050 BRACKET WING LEG  $26.21 



37661091 LANYARD GTWY WING LEG  $1.09 
37760041 CAM CLEAT PLT- GTWY (BENT)  $23.45 
37790001 WIRE SHROUD GETAWAY  $84.17 
37810001 WIRE FORESTAY ASSY GETAWAY  $289.80 
37810021 WIRE FORESTAY LWR GETAWAY  $113.15 
37810030 YOKE GETAWAY FORESTAY  $13.79 
37822011 WIRE BRIDLE GETAWAY  $51.05 
37830020 FORESTAY ADJ,  1/4" 10 HOLE GT  $22.07 
37880001 LACING ROD GTWY FWD 68.0" OS  $38.63 
37880011 LACING ROD GTWY MAIN 64-3/4"  $38.63 
37900011 BLOCK RATCHET LWR GTWY  $222.18 
37900021 BLOCK DOUBLE SWVL w/BKT GTWY  $114.53 
37970055 TRAMP GETAWAY BLACK MESH  $935.64 
37970058 TRAMP GETAWAY TURQ MESH  $935.64 
37970059 TRAMP GETAWAY GRAY MESH  $935.64 
37971058 WING COVER GETAWAY TURQ MSH PR  $335.34 
37971758 TRAMP GETAWAY GRAY MESH 17+  $935.64 
37977058 WING COVER GTW GRAY MSH PR 17+  $335.34 
37980055 TRAMP GETAWAY FWD BLACK MESH  $805.92 
37981755 TRAMP GETAWAY FWD BLK MESH 17+  $805.92 
37991001 SAIL GETAWAY MAIN "H" WHT RESO  $1,807.80 
37991077 SAIL GETAWAY MAIN "V" MARTINIQ  $2,082.42 
37991099 SAIL GETAWAY MAIN "V" CUSTOM  $2,243.88 
37992072 SAIL GETAWAY JIB ORANGE  $596.16 
37992099 SAIL GETAWAY JIB - CUSTOM  $727.26 
38010061 SEAT PAD LT BLUE  $49.67 
38010071 SEAT PAD GRAY  $49.67 
38016001 BATTEN SET WAVE OS  $186.30 
38040011 BACKREST SET WAVE - BLUE OST  $1,617.36 
38040012 BACKREST SET WAVE - GRAY OST  $1,617.36 
38041001 COVER - BACKREST PAD BLUE (1)  $78.65 
38041002 COVER - BACKREST PAD GRAY (1)  $78.65 
38101301 PINTLE WAVE UPPER  $27.59 
38101401 PINTLE WAVE LOWER  $27.59 
38120011 EYESTRAP WAVE BRIDLE  $13.23 
38120031 NYLON PUSH-IN PANEL RIVET  $0.54 
38120041 TANG HW BOW SPREADER  $38.63 
38131041 XBAR WAVE CLB/SE FWD NEW STEP OS  $808.68 
38132001 XBAR STOP WAVE  $15.17 
38140001 TRAPEZE RIGGING KIT WAVE  $219.42 
38170001 STUD HW MAST STEP  $22.07 
38171001 MAST STEP,HW (BALL STYLE)  $63.47 
38190021 END CAP AFT WAVE BLACK  $19.31 
38191031 XBAR WAVE AFT OS  $575.46 



38191041 SEAL CAP-BLACK 5/8"  $0.40 
38321111 TILLER ARM, WAVE ORIGINAL STYL  $115.91 
38360001 BUSHING WAVE LWR PINTLE  $6.33 
38370001 HULL SEAL CAP (UNDER SEATPAD)  $4.40 
38450000 ASSEMBLY MANUAL WAVE  $8.82 
38490011 KEEPER PIN W/LANYARD WAVE  $13.79 
38581041 MAST ASSY WAVE 2-PC   T/F OST  $2,254.92 
38582100 COMPTIP WAVE OS  $1,313.76 
38583141 MAST WAVE LOWER, NEWER TYPE T/ OST  $948.06 
38584001 LUFFTRACK 87.0"-HW-EXCPT H16 / OS  $193.20 
38641001 MAST BASE CSTG WAVE (FOR BALL  $63.47 
38651000 TRAILER ALUM HOBIE WAVE/BRAVO OST  $2,544.72 
38651001 HALYARD, WAVE MAIN  $153.18 
38651100 MAST STAND ALUMINUM FORWARD OST  $309.12 
38651200 MAST STAND ALUMINUM REAR* OST  $253.92 
38652010 TRAILER HOBIE ALUM KAYAK SINGL OS  $2,172.12 
38652011 TRAILER HOBIE ALUM KAYAK TI SI OS  $2,466.06 
38652200 TRAILER HOBIE ALUM KAYAK DOUBL OS  $2,289.42 
38652201 TRAILER ALUM KAYAK DOUBLE DOUB OS  $2,344.62 
38652210 TOWER - TRAILER HOBIE ALUM DOU OS  $623.76 
38652212 TRAILER HOBIE ALUM KAYAK PA17 OS  $2,732.40 
38653000 TRAILER ALUM HOBIE 16-20* OST  $3,683.22 
38653100 DOUBLE ROLLER KIT - TRAILER AL  $750.72 
38653200 CRADLE MOUNT KIT - TRAILER ALU  $204.24 
38653300 TRAILER PAD KIT -  KAYAKS  $220.80 
38660011 BACKREST COLLAR FWD WAVE  $68.99 
38660031 BACKREST COLLAR  AFT WAVE  $68.99 
38670011 "S" HOOK,WAVE HALYD DWNHL  $8.82 
38760021 TUBE SE WAVE TRAMPOLINE  $16.55 
38760031 TRAMP ANCHOR HOOK SE WAVE  $24.83 
38760041 CAM CLEAT PLT-CLUB/SE  $23.45 
38760061 TENSION HOOK WAVE SE TRAMP  $13.79 
38760071 HOOK WAVE SE TRAMP (SLIDE)  $27.59 
38790001 WIRE SHROUD SE WAVE W/HOOKS  $80.03 
38822011 WIRE BRIDLE WAVE SE W/HOOK-1/8  $97.97 
38881011 TRAMP LACING ROD WAVE OS  $19.31 
38900031 "S" HOOK, WAVE MAIN SHEET  $13.79 
38900061 BLOCK, STD FIDDLE W/BEARING  $96.59 
38900071 BLOCK, 40MM FIDDLE W/CAM, BKT,  $184.92 
38950011 END CAP WAVE JIB SPREADER  $15.17 
38970000 TRAMP SET WAVE SE WHITE  $887.34 
38970051 WIRE WAVE SE TRAMP  $97.97 
38970055 TRAMP WAVE SE BLACK MESH  $953.58 
38970058 TRAMP WAVE SE TURQ MESH  $953.58 



38970061 STRAP WAVE SE TRAMP AFT TENSIO  $22.07 
38990050 SAIL BAG WAVE  $104.82 
38991000 SAIL WAVE MAIN "V" WHITE OS  $1,484.88 
38991050 SAIL WAVE MAIN "H" WHITE RESOR OS  $1,226.82 
38991079 SAIL WAVE MAIN "V" MARTINQ OS  $1,646.34 
38991950 SAIL WAVE MAIN "H" CUSTOM RESO OS  $1,573.20 
38991991 SAIL WAVE MAIN "V" - CUSTOM OS  $1,807.80 
38992007 SAIL WAVE JIB YELLOW 25sq ft  $463.68 
38992010 SAIL WAVE JIB WHITE (25 sq ft)  $448.50 
38992071 SAIL WAVE JIB TURQUOISE (25 sq  $463.68 
38992072 SAIL WAVE JIB ORANGE (25 sq ft  $463.68 
38999000 SPIN POLE & HRDWR KIT WAV  $963.24 
38999001 WAVE JIB SPDR & HRDWR KIT OS  $821.10 
38999021 BOW SPREADER - WAVE OS  $168.36 
38999052 SPINNAKER WAVE (60 sq ft)  $822.48 
39100011 ANCHOR PLATE CLUB WAVE SHROUD  $17.93 
39130021 END CAP FWD BLACK  $19.31 
39250000 MAIN TRAVELER KIT - CLUB WAVE  $683.10 
39312000 WAVE EZ LOC RUDDER ASSY - ADD OS  $749.34 
39341011 TRAMP TRACK WAVE CLUB OS  $133.85 
39382011 TILLER ARM WAVE EZ LOC  $95.21 
39522001 TILLER XBAR WAVE "TENDON" OS  $224.94 
39524001 TILLER XBAR WAVE "EZ LOC" OS  $224.94 
39550001 HIKING STICK KIT - WAVE EZ LOC OS  $293.94 
39640020 MAST FLT PLT  $17.93 
39790001 WIRE SHROUD WAVE CLUB  $60.71 
39810001 WIRE FORESTAY WAVE CLUB  $55.19 
39822011 WIRE BRIDLE WAVE CLUB  $46.91 
39870000 BEACH DOLLY - WAVE OS  $1,056.69 
39970000 TRAMP CLUB WAVE WHITE  $580.98 
39970055 TRAMP CLUB WAVE BLACK MESH  $632.04 
39970058 TRAMP CLUB WAVE TURQ MESH  $632.04 
39970059 TRAMP SET WV-CLUB GRAY MESH  $632.04 
40240001 OUTHAUL ROLLER  $13.79 
40340001 RUDDER PIN BUSHING H20 UPPER  $13.79 
40360001 RUDDER PIN BUSHING H20 LOWER  $13.79 
40380011 TILLER ARM H20  $68.99 
40401210 COMPTIP H20 OS  $1,529.04 
40504501 WIRE TRAPEZE H20 PR.  $146.28 
40530001 TILLER CONNECTER POST  $13.79 
40530021 TLR CONNECTER SCREW/CLUB  $23.45 
40540001 TILLER CONN  ADJUSTER THREADED  $48.29 
40550001 TILLER CONN END CAP - THREADED  $15.17 
40561001 END CAP TILLER CONNECT FIXED  $19.31 



40590001 TILLER CONNECTOR RETAINER  $6.65 
40600001 TILLER EXTENSION BUSHING  $13.79 
40650001 END CAP,TILLER ARM SWIVEL  $27.59 
40660001 TILLER ARM INSERT  $31.73 
40680001 INSERT BEARING TILLER CONNECTO  $7.44 
40700541 DOWNHAUL SHEAVE H20  $13.79 
40792001 WIRE SHROUD H20  $133.85 
40810011 WIRE FORESTAY H20 UPR  $180.78 
40822001 WIRE BRIDLE H20  $117.29 
40822121 WIRE FORESTAY H20 (5/16" END)  $144.90 
40880011 RUDDER PIN H20 SS  $33.11 
40970001 HIKING STRAP SET - H20  $124.19 
40970055 TRAMP H20 BLACK MESH  $1,469.70 
40991000 SAIL H20 MAIN WHITE OS  $3,915.06 
40992010 SAIL H20 JIB WHITE OS  $1,573.20 
41150001 FWD OUTBOARD SUPPORT TUBE H20  $33.11 
41220001 EYELET POST  $6.65 
41370001 HATCH SCREW-IN -WHITE 5"  $23.45 
50101301 GUDGEON UPPER  $33.11 
50101401 GUDGEON LWR  $49.67 
50101701 ANCHOR BAR - SHROUD  $31.73 
50102011 GUDGEON CASTING H16  $85.55 
50212301 DOLPHIN STRIKER BALL 17 / WAVE  $52.43 
50252021 TRACK H17 TRAVELER DEEP  $302.22 
50253001 B/U PLATE H17 REAR XBAR  $31.73 
50262101 XBAR CAP H-17 PKG OF 4  $7.44 
50312201 PLUNGER RUDDER H17/18  $13.79 
50312301 PIN RUDDER CAM H17/18  $15.17 
50313001 EZ LOC RDR HOUSING  $147.66 
50313201 LINKAGE EZ LOC RDR HOUSING  $13.10 
50313301 RIVET LWR RDR HOUSING  $13.79 
50314001 EZ LOC - UP-LOCK PIN KIT  $33.11 
50321001 RUDDER CASTING UPR LT BLK  $433.32 
50322001 RUDDER CASTING LWR BLACK  $387.78 
50341001 RUDDER CASTING UPR RT BLK  $433.32 
50350140 CENTERBOARD SPRING H17  $106.25 
50351001 CENTERBOARD H17  $705.18 
50404101 LUFF TRACK UPDATE (12.5")  $115.91 
50404111 LUFF TRACK UPDATE (14.8") H17  $115.91 
50406301 PIN H17/20/TIGER MAST STEP  $13.79 
50416011 MAST BASE H17/20/TIGER BLACK  $281.52 
50502201 ROLL PIN, GOOSENECK BOOM PIN  $1.92 
50611101 COMPTIP H17 OS  $1,345.50 
50650900 WING TRAMP H17 SET BLACK  $632.04 



50650958 WING TRAMP H17 SET TURQ MESH  $632.04 
50663001 WING CASTING H17 FWD BLK  $85.55 
50665001 WING CAP H17  $19.31 
50670091 TRAMP SET H17 BLACK MESH  $839.04 
50670391 TRAMP LACING AFT H17 BLK  $173.88 
50701101 WIRE BRIDLE H17 SE BLACK  $68.99 
50701201 WIRE FORESTAY H17 SE BLACK  $68.99 
50701501 TRAPEZE SHOCKCORD H17  $19.31 
50702001 HANDLE CENTERBOARD H17  $- 
50772031 HINGE VERTEX,GOOSENECK  $15.17 
52009001 SPREADER POLE END CAP SPORT  $19.31 
52410011 HOOK-SPORT DOWNHAUL  $38.63 
52411001 WASHER MAST BASE H17/20  $15.17 
52500001 SPREADER POLE ASSY SPORT OS  $1,115.04 
52500101 BRIDLE LWR SPORT (SS)  $31.73 
52500201 WIRE BRIDLE UPR SPORT  $114.53 
52661001 WIRE JIB HALYARD SPORT  $33.11 
52721111 BALL MEDIUM 6 MM BLACK  $2.75 
52722011 SPORT SAIL FOOT "BOOMLET"  $373.98 
52812001 WIRE SPORT FORESTAY LWR  $146.28 
52812011 WIRE SPORT FORESTAY UPR  $151.80 
52991000 SAIL H17SE/SPT MAIN WHITE OS  $3,187.80 
52992006 SAIL SPORT JIB WHITE DACR  $870.78 
53170020 SCREW 1/4-20 X 1/2 SKTST (ABA)  $0.54 
53180011 HOG RING 3/8" S/S FOR 3/16" BU  $0.26 
53790141 HOOK JIB GTW / TRIFOILER  $48.29 
60060000 MAST FOAM PLUG H18  $7.44 
60102011 GUDGEON H18 CASTING KIT  $120.05 
60110000 MAST BEARING H18  $13.79 
60120000 TANG H18 BOW  $19.31 
60140001 DOLPHIN STRIKER H18 POST  $114.53 
60170011 MAST H18 STEP BLACK  $85.55 
60180011 MAST H18 STEP ASSY BLACK  $219.42 
60210011 XBAR H18 CSTG AFT LT BLK  $300.84 
60220001 BOOM H18 OUTHAUL SL ASY  $151.80 
60240000 BOOM H18 OUTHAUL BEARING  $7.44 
60250000 BOOM PIN H18 OUTHAUL BRNG  $7.44 
60270000 FAIRLEAD H18 THRU-DECK  $24.83 
60309001 DAGGER WELL NEOPRENE KIT  $56.57 
60330031 JIB SLIDE H18/20 (WITH 1/4-20  $100.73 
60330041 BLOCK HARKEN JIBSHEET  $382.26 
60400011 RUDDER ADJUSTER KIT  $35.87 
60450000 SCREW DELRIN RUDDER  $13.79 
60550001 TILLER EXTENSION H18/21 (106") OS  $264.96 



60611100 COMPTIP H18 OS  $1,297.20 
60620000 SHEAVE 1"  $13.79 
60641031 MAST BASE CASTING H18  $95.21 
60650011 MAST BASE HINGE CSTG H18  $100.73 
60670000 SHACKLE,TWIST 3/16 PIN  $49.67 
60680001 COMPRESSION PLATE ASSY - MAST  $64.85 
60710000 GOOSENECK YOKE  $48.29 
60730001 TRAPEZE SHOCK CORD H18  $15.17 
60730002 TRAPEZE SHOCKCORD W/HKS  $17.93 
60751010 BOOM CAP H18 FWD BLACK  $64.85 
60790001 SHROUD H18/21SC WHITE  $140.76 
60792001 SHROUD H18/21SC BLACK  $140.76 
60810011 WIRE H18/21SC FSTAY UPR  $161.46 
60810021 WIRE H18/21SC FSTAY WHT  $139.38 
60812021 WIRE H18/21SC FSTAY BLK  $139.38 
60820001 WIRE H18 BRIDLE WHITE  $113.15 
60822001 WIRE H18 BRIDLE BLACK  $113.15 
60830000 STAY ADJUSTER (FOR JIB FURLER)  $19.31 
60880001 RUDDER PIN H17/18  $27.59 
60880011 RUDDER PIN, ST. STEEL H17/18  $27.59 
60970000 TRAMP SET H18 WHITE  $644.46 
60970055 TRAMP SET, H18 BLK MESH  $759.00 
60970058 TRAMP SET H18 TURQ MESH  $759.00 
60991011 SAIL H18 MAIN WHITE  $1,967.88 
60991991 SAIL H18 MAIN - CUSTOM  $2,340.48 
60992011 SAIL H18 JIB WHITE  $920.46 
60992991 SAIL H18 JIB - CUSTOM  $1,113.66 
61020001 INSERT NUT - INBD SUPT CSTG H1  $38.63 
61040001 INBOARD SUPPORT CSTG H18 REAR  $151.80 
61070000 CLAMCLEAT JUNIOR CL203  $13.10 
61070010 CLAMCLEAT RACE JUNIOR  $22.07 
61080000 MAST SEAL PLATE H18  $13.79 
61210001 MAST ROTATION BAR  $84.17 
61230000 SWIVEL JIB FURLER-EYE/EYE  $125.57 
61260000 SHEAVE - JIB HALYARD BLOCK  $38.63 
61290011 RING SS 3/16 X 1-3/16" ID  $6.61 
61290021 HALYARD RING W/LOOP  $38.63 
61370001 HATCH SCREW-IN -WHITE 6"  $24.83 
61510000 EYE STRAP  $5.23 
61530000 ROPE LOCK  $7.44 
61570000 THIMBLE 1/16" SS HVY DUTY  $2.75 
61610101 HALYARD HOOK H18/20 COMPTIP  $40.01 
61661001 WIRE JIB HALYARD ASSY H18  $56.57 
61670000 BALL BEARING (18 PER FURLER)  $0.54 



61740000 ROLLER DIAMOND WIRE H18  $7.44 
61750001 WIRE DIAMOND H18 W/TURNBUCKLE  $197.34 
61770000 TURNBUCKLE 1/8" FLAT JAW  $84.17 
61800001 TRAVELER ASSEMBLY - MAIN  $260.82 
61810000 ROLLER SKID - TRAVELER  $13.79 
61830000 BUSHING SHAFT - TRAVELER  $24.83 
61852000 BEARING SET (2 CYLINDERS)  $49.67 
61870000 TRAVELER DECK PLATE  $48.29 
61880000 SPACER,H18 TRAVELER CAR  $17.93 
61890000 SHEAVE TRAVELER CAR  $13.79 
61900000 JIB FURLER ASSY  $518.88 
61900900 FURLER TUNE UP KIT  $89.69 
61920000 FURLER BEARING RACE  $48.29 
61930000 FURLER BEARING CAGE  $13.79 
61940000 FURLER NYLON SLEEVE 1" ID X 1.  $7.44 
61950001 FURLER SLEEVE  $81.41 
61960001 FURLER SPOOL&HOUSING  $26.21 
61980000 FURLER BRIDLE YOKE  $41.39 
62260001 CLAMCLEAT LEECHLINE CLEAT  $13.10 
62270000 CLEW PLATE (3 HOLE)  $23.45 
62300000 ZIPPER JIB LUFF  $42.77 
62330000 DECAL H18 SAIL - CLASS INSIG  $13.79 
68190001 ANCHOR PLATE, SX WINGS  $34.49 
68330011 HEADBOARD ALUM W/RIVETS  $41.39 
68503501 TRAPEZE WIRE SX18 BLACK  $81.41 
68661001 WIRE H18SX JIB HALYARD  $57.95 
68793501 WIRE H18SX SHROUD BLACK  $139.38 
70000111 BEACH DOLLY EURO H16 OST  $1,137.18 
70060001 HOBIE UV PROTECTANT-12oz  $26.21 
71110001 PAD EYE-BLK NYLON-3/8"  $2.75 
71113001 DRAIN PLUG  $14.48 
71114001 DRAIN ASSY. OUTFITTER-FRONT  $23.17 
71114002 DRAIN ASSY. SPORT-OASIS-TI  $23.17 
71114003 DRAIN ASSY. REVO 11 FRONT  $23.17 
71114004 DRAIN ASSY. REVO 13 FRONT  $23.17 
71114005 DRAIN ASSY. REVO 16  $23.17 
71114006 DRAIN ASSY. OASIS FRONT  $23.17 
71115001 SHOCK CORD END - SCREW-IN  $9.40 
71115101 TOOL - SCREW IN FITTINGS  $15.93 
71116001 PADEYE - SCREW-IN  $14.48 
71117001 CLEAT - SCREW-IN  $14.48 
71119001 PA PADDLE CLIP ASSY  $43.87 
71120001 LASHING HOOK-BLACK  $5.23 
71122001 JAM CLEAT - SCREW-IN  $14.48 



71123001 SHOCK CORD - SCREW-IN LARGE  $14.48 
71124001 PLUG, SCREW-IN  $14.48 
71125001 PAD EYE, SCREW-IN, XL  $14.48 
71125501 AMA / AKA DBL SHOCK CORD ASSY  $24.83 
71126001 HOOK, GATED, W/LADDER LOCK  $14.48 
71175001 HATCH BAG 6.0 DIA.-RED  $24.62 
71190000 HANDLE - LIFTING (WEB W/HOLE-  $17.93 
71190001 HANDLE - LIFTING (WEB W/CAP -  $19.31 
71190011 HANDLE - LIFTING (WEB - BRAVO)  $19.31 
71190021 HANDLE - LIFTING '08  (WEB - B  $24.83 
71190031 HANDLE - SIDE CARRY KIT  $56.57 
71220001 PAD EYE - CHROME  $6.33 
71230001 COVER, ROD HOLDER  $6.33 
71250001 SHOCK CORD ASSY, KONA FWD DECK  $- 
71251001 SHOCK CORD ASSY, PDL HOLDER  $24.83 
71253001 SHOCK CORD ASSY, ADV PDL HOLDE  $- 
71280001 KEEL GUARD, PADDLE MODELS  $24.62 
71300701 TRIM LOK SEAL HATCH LID  $6.33 
71301001 TRIM LOK SEAL (TOP MOLDED)  $6.33 
71302001 TRIM LOK SEAL (SIDE GLUED)  $6.33 
71305001 TRIM LOK SEAL (LG TOP-MOLDED)  $7.44 
71320001 GASKET SET 5.5,  7.125, 9.250  $7.44 
71321001 GASKET KAYAK HATCH 6"  $8.96 
71331001 GASKET KAYAK HATCH 8"  $13.79 
71552001 SHOCK CORD ASSY, ADV FWD HATCH  $17.93 
71701001 HATCH 6" TWIST-N-SEAL KIT  $99.97 
71701011 HATCH 6" TWIST-N-SEAL  $85.48 
71701021 O RING 6" TWIST-N-SEAL  $14.91 
71702001 HATCH 8" TWIST-N-SEAL KIT  $137.64 
71702011 HATCH 8" TWIST-N-SEAL  $115.91 
71702021 O RING 8" TWIST-N-SEAL  $15.93 
71703001 HOBIE DRY BAG 8.0"  $43.46 
71704001 GEAR BUCKET  $40.56 
71704021 GEAR BUCKET - DEEP  $46.35 
71705001 GEAR BUCKET BAG  $33.31 
71706001 GEAR BUCKET 3 PAK W/BAG  $144.89 
71707001 RECTANGULAR HATCH BLACK  $192.72 
71707002 GASKET - RECTANGULAR HATCH  $13.79 
71707003 RECTANGULAR HATCH KIT, HORIZON  $205.62 
71707004 FRONT HATCH SEAL, PA12/14/17T  $27.59 
71708001 TACKLE MANAGEMENT RACK KIT  $31.86 
71709002 BUCKET, HOBIE RECTANG HATCH V2  $44.15 
71710001 RECTANGULAR HATCH ASSY WHITE  $192.72 
71995001 WATER BOTTLE - STAINLESS  $19.31 



71996001 BOTTLE/CAN HOLDER  $13.79 
72009001 SCUPPER PLUG-PSUIT/MAUI/LANAI  $24.83 
72012001 SCUPPER PLUG KONA/QUEST  $17.93 
72013001 SKID GUARD, PRO  $15.93 
72020000 HOBIE GEAR KEEPER SMALL 36"  $30.35 
72020001 HOBIE GEAR KEEPER LARGE 36"  $34.49 
72020003 HYDRO STAR SOS DLX LIGHT  $63.47 
72020009 HOBIE DRIFT CHUTE  $65.81 
72020010 HOBIE SAFETY KIT  $117.29 
72020013 KAYAK GUN MOUNT (PAIR)  $74.51 
72020014 ROD HOLDER EXTENSION  $40.94 
72020015 ROD HOLDER - LIVEWELL w/FASTEN  $36.55 
72020019 FISH GRIP  $27.59 
72020024 MIRAGE PERFORMANCE PACKAGE V2  $- 
72020028 MIRAGE SEAT PAD - INFLATABLE  $98.52 
72020029 HOBIE SAFETY PACKAGE-DELUXE  $287.04 
72020030 TEAR-AID / TYPE A (POLY)  $16.55 
72020031 TEAR-AID / TYPE B (VINYL)  $16.55 
72020032 BILGE - HAND PUMP  $31.73 
72020034 PEDAL PAD KIT BLACK (PAIR)  $23.45 
72020040 SAFETY FLAG/LIGHT COMBO  $137.99 
72020041 HATCH LINER - OUTBACK <=2018  $100.73 
72020042 HATCH LINER - REVO 13 / 2013+  $100.73 
72020044 HATCH LINER - REVO 11/QUEST 11  $100.73 
72020051 MIGHTYMOUNT W/ MOUNT HDWR  $15.17 
72020063 HIKING STICK - AI/TI  $124.19 
72020067 HOBIE FISH HAWG TROUGH - IMPER  $40.01 
72020070 FISHFINDER POWER KIT  $266.23 
72020072 HOBIE LIVEWELL XL  $724.09 
72020073 TROLLEY KIT - TROLLEY READY OR  $91.07 
72020074 ROD HOLDER EXTENSION / ADJ  $108.23 
72020076 POWER-POLE / POWER KIT  $284.28 
72020077 HOBIE LIVEWELL V2  $623.15 
72020078 HOBIE FIRST AID KIT  $75.89 
72020079 SPIKE - POWER POLE MICRO 6' OS  $115.91 
72020083 POWERPOLE MICRO AND SPIKE OS  $1,023.96 
72020084 POWERPOLE MICRO MOTOR ONLY  $879.06 
72020085 SPIKE - POWER POLE MICRO 8' OS  $144.90 
72020087 COOLER - PA BUCKET / ALL CARGO  $140.43 
72020088 HOBIE H-CRATE  $229.08 
72020090 TROLLING MOTOR MOUNT / PA17  $171.15 
72020092 RESCUE STEP - KAYAK  $75.89 
72020097 H-CRATE SOFT COVER  $40.94 
72020098 ROD HOLDER ASSEMBLY / H-RAIL  $90.68 



72020099 HD STRAP KIT  $26.21 
72020100 MOTORGUIDE QR BRACKET  $117.29 
72020103 BOOMERANG SNIPS  $22.07 
72020108 SAFETY FLAG ASSEMBLY OS  $28.97 
72020109 HATCH LINER - OUTBACK 2019+  $100.73 
72020111 FISH BAG/COOLER LARGE  $292.56 
72020113 FISH BAG/COOLER MEDIUM  $211.14 
72020114 FISH BAG/COOLER COMPASS  $172.50 
72020116 ECLIPSE ACCESSORY BAG  $60.84 
72020117 VANTAGE SEAT ACCESSORY BAG  $54.11 
72020118 FISH BAG/COOLER XL  $414.00 
72020120 TROLLING MOTOR Xi5 50" FRESH OS  $1,682.22 
72020123 BATTERY CHARGER 12 / 6 VOLT  $53.53 
72020124 PROP WEEDLESS 2 BLADE 3.5"  $56.57 
72020125 PROPNUT / WRENCH / PINS  $23.45 
72020127 NMEA2000 STARTER KIT  $96.59 
72020130 CELLBLOK BATTERY HOLDER  $- 
72020131 PARKNPOLE LINK 3PC 12' STAKEOU  $- 
72020132 OUTBACK POWER-POLE MOUNT <=201  $82.79 
72020138 POWERPOLE HDWR KIT 19 OUTBACK  $11.58 
72020143  $320.35 
72020144 FISHFINDER RUDDER INSTALL KIT  $351.07 
72020145 FISHFINDER LITHIUM POWER KIT  $248.58 
72020150 FOOTBRACE KIT COMPASS/DUO  $60.71 
72020153 H-RAIL KIT FOR REAR H-TRACK DL  $60.71 
72020167 HOBIE FISH HAWG TROUGH - METRI  $40.01 
72020175 POWERPOLE - MOUNT KIT COMPASS  $133.85 
72020176 POWERPOLE - MOUNT KIT PRO A  $155.94 
72020177 POWERPOLE - MOUNT PLATE ONLY  $89.69 
72020185 MICRO BATTERY PAK - LITHIUM BA  $302.22 
72020207 PLATE KIT, LOWRANCE READY TOTA  $57.95 
72020208 FISHFINDER HOOK2 4x GPS  $172.50 
72020209  $- 
72020210  $- 
72020211  $- 
72020212  $- 
72020213  $- 
72020216 GUARDIAN REPLACEMENT PARTS KIT  $64.35 
72020218 FISHFINDER ELITE 7Ti2, 4,000 U  $1,084.68 
72020219 FISHFINDER ELITE 9Ti2, 4,000 U  $1,447.62 
72020220 MOUNT KIT, TRIPLESHOT TRANSDUC  $64.85 
72020221 C-MAP INSIGHT PRO  $143.52 
72020222 POINT-1 GPS ANTENNA  $288.42 
72020229 FISHFINDER HOOK REVEAL 5 SPLIT  $483.00 

FISHFINDER iSERIES INSTALL KIT

FISHFINDER HOOK2 5 SplitShot
FISHFINDER HOOK2 7 SplitShot
FISHFINDER HOOK2 7 TripleShot
FISHFINDER HOOK2 9 SplitShot
FISHFINDER HOOK2 9 TripleShot



72020230 FISHFINDER HOOK REVEAL 7 SPLIT  $759.00 
72020231 FISHFINDER HOOK REVEAL 7 TRIPL  $897.00 
72020233 FISHFINDER HOOK REVEAL 9 TRIPL  $1,104.00 
72020239 MAT KIT, PASSPORT 12 GREY/CHAR  $202.86 
72020240 MAT KIT, PA12 GREY/BLACK 360  $459.54 
72020241 MAT KIT, PA12 BLACK/GREY 360  $459.54 
72020242 MAT KIT, PA14 GREY/BLACK 360  $612.72 
72020243 MAT KIT, PA14 BLACK/GREY 360  $612.72 
72020244 MAT, PA14 GREEN/ESPRESSO INTER  $429.18 
72020245 MAT, PA14 TITANIUM/BLUE INTER  $429.18 
72020246 MAT, PA14 GREY/CHARCOAL INTER  $429.18 
72020247 MAT, PA12 GREEN/ESPESSO INTER  $336.72 
72020248 MAT, PA12 TITANIUM/BLUE INTER  $336.72 
72020249 MAT, PA12 GREY/CHARCOAL INTER  $336.72 
72020250 MAT KIT, PA14 GREEN/ESPRESSO  $612.72 
72020251 MAT KIT, PA14 TITANIUM/BLUE  $612.72 
72020252 MAT KIT, PA14 GREY/CHARCOAL  $612.72 
72020253 MAT KIT, PA12 GREEN/ESPRESSO  $459.54 
72020254 MAT KIT, PA12 TITANIUM/BLUE  $459.54 
72020255 MAT KIT, PA12 GREY/CHARCOAL  $459.54 
72020256 MAT KIT, OUTBACK GREEN/ESPRESS  $229.08 
72020257 MAT KIT, OUTBACK TITANIUM/BLUE  $229.08 
72020258 MAT KIT, OUTBACK GREY/CHARCOAL  $229.08 
72020259 MAT KIT, COMPASS GREY/CHARCOAL  $213.90 
72020260 MAT KIT, OUT 19 TI/AEG BL INTR  $274.62 
72020261 MAT KIT, OUT 19 TI/AEG BL COMP  $382.26 
72020263 MAT KIT, OUT 19 GRN/ESPR INTR  $274.62 
72020264 MAT KIT, OUT 19 GRN/ESPR COMP  $382.26 
72020266 MAT KIT, OUT 19 GRY/CHAR INTR  $274.62 
72020267 MAT KIT, OUT 19 GRY/CHAR COMP  $382.26 
72020268 UNDSEAT PADS GR/CH PA12/14 '19  $38.63 
72020269 UNDSEAT PADS GN/ES PA12/14 '19  $38.63 
72020270 UNDSEAT PADS AI/BL PA12/14 '19  $38.63 
72020273 TROLLEY KIT - WELLNUT COMPASS/  $96.59 
72020284 H-CRATE TIE DOWN STRAP ASSY  $26.32 
72020297 H-CRATE JR SOFT COVER  $39.48 
72020298 HOBIE H-CRATE JR  $213.90 
72020299 LOWRANCE READY SMALL PARTS KIT  $55.57 
72020300 KAYAK RIGGING KIT - HARDWARE  $202.86 
72020301 HARDWARE KIT 1.25  (4 PACK)  $6.61 
72020311 TACKLE BOX - SMALL YELLOW  $12.27 
72020321 TACKLE BOX - MEDIUM BLUE  $16.55 
72020331 TACKLE BOX - LARGE RED  $20.69 
72020350 SPINNAKER KIT ADVENTURE ISLAND  $996.36 



72020351 SPINNAKER KIT TANDEM ISLAND  $1,075.02 
72020352 SPINNAKER ADVENTURE ISLAND  $585.12 
72020353 SPINNAKER TANDEM ISLAND  $648.60 
72020354 ISLAND SPINNAKER HOOP  $150.42 
72020355 ISLAND SPINNAKER SOCK / BAG  $56.57 
72020356 MAST HEAD VANE, ISLAND  $41.39 
72020358 VANE REPLACEMENT-ISL SPINNAKER  $31.73 
72020400 CRADLE SET - ADV ISL <=2014 TR  $409.86 
72020401 CRADLE SET - PRO ANGLER TRAILE  $378.12 
72020402 CRADLE SET - TDM ISL TRAILER OS  $459.54 
72020404 CRADLE SET - PA17 TRAILER  $358.80 
72020405 DOLLY HANGER KIT- PA17 TRAILER  $147.66 
72020406 CRADLE SET - ADV ISLD 2015+ TR  $398.82 
72020407 CRADLE SET - OUTBACK <=2018  $378.12 
72020427 CRADLE SET - OUTBACK 2019+  $378.12 
72020428 CRADLE SET - COMPASS & DUO  $378.12 
72020503 UNIVERSAL MOUNT / ECLIPSE  $30.35 
72020504 WATER BOTTLE HOLDER KIT ECLIPS  $70.37 
72020510 WATER BOTTLE CAGE  $40.01 
72020511 QUAD LOCK UNI PHONE MOUNT  $63.47 
72020520 HOBIE BIMINI BLUE  $327.47 
72020521 HOBIE BIMINI GRAY  $327.47 
72020522 HOBIE BIMINI SUN YELLOW  $327.47 
72020601 CUP HOLDER, TRACK MOUNTED  $23.39 
72021001 BATTERY - LIVEWELL  $78.98 
72021002 BATTERY CHARGER - LIVEWELL  $55.57 
72021003 SWITCH - LIVEWELL V1  $- 
72021004 INTAKE TUBE ASSY - LIVEWELL  $16.08 
72021005 STRAP SET - LIVEWELL  $19.00 
72021007 PUMP CONNECTOR FEMALE - LIVEWE  $16.08 
72021008 PUMP CONNECTOR MALE - LIVEWELL  $16.08 
72021009 DOWNSPOUT FITTING - LIVEWELL  $12.13 
72021010 INTAKE 90 DEGREE - LIVEWELL  $12.13 
72021015 MARINE GOOP 3.7oz CLEAR  $17.93 
72021020 DOWNSPOUT TUBE - LIVEWELL  $5.49 
72021021 TERMINAL COVER - BATTERY LIVEW  $5.49 
72021022 PUMP  ATTWOOD - LIVEWELL  $58.50 
72021023 INTAKE TUBE  7" ONLY - LIVEWEL  $12.13 
72021027 ELEC CONNECTOR SET  $42.77 
72021037 PLUG - LIVEWELL PUMP  $7.81 
72021054 C CLIP - DRAIN TUBE LEVEL  $13.79 
72021060 HORIZONTAL ROD HOLDER KIT  $53.60 
72021066 BATTERY LARGE LID - LIVEWELLv1  $16.08 
72021071 DIVIDER, REVERSIBLE LIVEWELL V  $12.13 



72021074 KNOB, ADJUSTABLE ROD HOLDER  $3.46 
72021090 WIRING KIT, PA17 TROLLING MOTO  $235.98 
72021108 PROP, HOBIE DESIGN, TORQ MOTOR  $196.73 
72021113 THRU HULL FITTING, PWR PLUG, V  $4.62 
72021114 BACKING RING, PWR PLG THRU HUL  $4.62 
72021115 MNTG PLT, M12 CABLE GLAND  $6.65 
72021116 BACKING RING, MNTG PLT, M12 CA  $6.65 
72021119 GASKET PACK, CABLE MOUNTS  $3.46 
72021120 CAP, PWR PLUG, FEMALE v1  $3.46 
72021122 LANYARD, TYCO CNCTR CAP V1  $5.49 
72021123 CAP, M12 CNCTR, PLUG  $14.48 
72021124 CAP, M12 CNCTR, CAP  $23.39 
72021128 CAP ASSY POWER PLUG MALE  $14.48 
72021129 FIN KIT - EVOLVE  $78.98 
72021132 EVOLVE v1 - BATTERY CHARGER  $138.59 
72021133 REMOTE THROTTLE, TORQEEDO  $590.20 
72021134 CABLE, POWER EXTENSION, 170"  $256.35 
72021135 CABLE, M12, THROTTLE BOX CONEC  $64.07 
72021136 CABLE, M12, THROTTLE CONTROL  $95.37 
72021137 KEY W/LANYARD AND CLIP  $41.72 
72021148 PROP ALIGNMENT TOOL - EVOLVE  $24.83 
72022010 TORQ TRAC SMARTPHONE ACCESSORY  $244.43 
72022030 EVOLVE v2 MOTOR KIT - K HAZ  $3,743.88 
72022031 EVOLVE v2 CABLE KIT (2ND HULL)  $375.33 
72022032 EVOLVE v2 MOTOR KIT - K NO BAT  $2,211.90 
72022040 EVOLVE v2 MOTOR KIT - i HAZ  $3,743.88 
72022123 EVOLVE V2 MOTOR REPLACEMENT  $1,392.03 
72022124 EVOLVE FG SPRING, STD LENGTH  $24.83 
72022125 EVOLVE FG SPRING, i-SERIES LEN  $24.83 
72022126 EVOLVE V2 BATTERY W/HANDLE HAZ  $1,392.03 
72022132 EVOLVE v2 - BATTERY CHARGER  $132.65 
72022133 EVOLVE v2 - SOLAR PANEL 23w  $- 
72022134 EVOLVE v2 CABLE, PWR EXT, 170"  $256.35 
72022139 CARRY STRAP - EVOLVE BATTERY  $24.83 
72022141 HAZ  $1,406.94 
72022142 EVOLVE CHARGER - 915wh BATTERY  $202.69 
72023015 RAM MAST-TUBE WEDGE MOUNT 1.5"  $24.14 
72023016 RAM MAST-TUBE WEDGE MOUNT 1"  $17.93 
72023017 RAM U-BOLT RAIL BASE w/ 1" BAL  $26.21 
72023019 RAM DBL 1" BALL SOCKET ASSEMBL  $20.69 
72023025 RAM U-BOLT BASE w/1.5"  BALL  $27.59 
72023029 RAM V-BASE (STRAP 1"- 2.1") 1"  $26.90 
72023032 RAM CAMERA MOUNT ARMS  $70.37 
72023033 RAM SMALL ROUND BASE 1/4"-20  $- 

EVOLVE BATTERY 915 Wh



72023034 RAM GOPRO MOUNTING BASE 1"  $15.17 
72023035 RAM 18" TRANSDUCER MNT  $67.61 
72023036 RAM 10" POST EXTENSION ARM 1.5  $- 
72023042 RAM BOND A BASE - INFLAT/WHITE  $46.91 
72023044 RAM BASE 1" DIAMOND 2 7/16" X  $15.17 
72023045 RAM BASE 1" BALL ROUND 2 7/16"  $- 
72023046 RAM BASE 1.5" BALL 2" X 2.5"  $24.83 
72023047 RAM DBL BALL SOCKET ARM 1.5" P  $24.83 
72023048 RAM ROD 2007 JR. FLY ROD HOLDE  $26.21 
72023049 RAM TUBE JR HOLDER  $35.87 
72023050 RAM ROD 2000 ROD HOLDER  $39.32 
72023051 RAM TUBE 2008 ROD HOLDER  $25.52 
72023052 RAM FISH FINDER BASE W/ 1" ARM  $37.25 
72023053 RAM LOWRANCE BASE W/ 1" ARM  $28.97 
72023054 RAM LOWRANCE BASE W/ 1.5" ARM  $40.01 
72023055 RAM LOWRANCE BASE W/ 1.5" ARM  $44.15 
72023056 RAM X-GRIP UNIVERSAL HOLDER W/  $54.50 
72023057 MOUNT, i-SERIES FISHFINDER  $66.23 
72023058 RAM 1" TRACK BALL  $15.86 
72023059 RAM 1.5" TRACK BALL  $20.69 
72023060 RAM MOUNT 1" BALL & ARM HOOK2  $38.63 
72023061 RAM MOUNT 1.5" BALL & ARM HOOK  $53.12 
72023062 RAM 1" TRACK BALL QUICK RELEAS  $- 
72023063 RAM 1.5" TRACK BALL QUICK RELE  $- 
72023064 RAM SM TOUGH CLAW w/1" BALL  $- 
72023065 RAM SM TOUGH CLAW w/1.5" BALL  $52.43 
72023066 RAM LG TOUGH CLAW w/1" BALL  $- 
72023067 RAM LG TOUGH CLAW w/1.5" BALL  $82.10 
72023070 RAM BALL ADAPTER FOR GOPRO MOU  $22.07 
72023071 RAM ROD BULKHEAD/FLAT SURFACE  $20.69 
72023072 RAM TOUGH-TUBE ROD HOLDER WITH  $35.87 
72023073 RAM ROD JR FISHING ROD HOLDER  $48.29 
72023074 RAM ROD JR FISHING ROD HOLDER  $28.28 
72023075 RAM ADAPT-A-POST™ WITH ADJUSTA  $47.60 
72023076 RAM ROD FISHING ROD HOLDER WIT  $35.18 
72023077 RAM TUBE JR.™ ROD HOLDER WITH  $26.21 
72023078 RAM DUAL T-BOLT TRACK BASE FOR  $22.76 
72023079 RAM ROD JR FISHING ROD HOLDER  $43.46 
72023080 RAM TOUGH-TRACK-TOP-LOADING CO  $17.93 
72023081 RAM TOUGH-TRACK-TOP-LOADING CO  $19.31 
72023082 RAM TOUGH-TRACK-TOP-LOADING CO  $20.00 
72023083 RAM TOUGH-POLE CAMERA MOUNT WI  $89.00 
72023084 RAM TOUGH-POLE 48" CAMERA MOUN  $128.33 
72023085 RAM TOUGH-POLE 36" ACTION CAME  $124.19 



72023086 RAM ROLLER-BALL 2-PACK PADDLE  $48.98 
72023087 RAM TRACK TIE DOWN/PADEYE - 2  $31.04 
72023088 RAM SUCTION BASE W/ 1" BALL  $33.11 
72023089 RAM ROD 8" POST EXTENSION ARM  $20.00 
72023090 RAM ADAPT-A-POST T-BOLT MOUNT  $38.63 
72023091 RAM ADAPT-A-POST 2 T-BOLT TRAC  $22.07 
72023092 RAM ADAPT-A-POST H-RAIL MOUNT  $45.53 
72023093 RAM ADAPT-A-POST 2 HOLE MOUNT  $13.79 
72023094 RAM TOUGH-TRACK 3" ALUMINUM  $22.07 
72023095 RAM TOUGH-TRACK 5" ALUMINUM  $25.52 
72023096 RAM TOUGH-TRACK 9" ALUMINUM  $28.28 
72023097 RAM ADAPT-A-POST 4 HOLE MOUNT  $18.62 
72023098 RAM TOUGH-TRACK CONNECTOR  $11.03 
72025001 BATTERY - 12v  FISHFINDER  $109.69 
72025002 CHARGER - 12v BATTERY FISH F  $52.65 
72025005 WATER PROOF WIRE CONNECTOR LG  $4.40 
72025007 HOLDER, 12v FF BATTERY  $36.21 
72025009 PIGTAIL WIRE/ 12ft FOR 12v BAT  $33.31 
72025010 LITHIUM PRO POWER KIT 12V 10AH  $198.72 
72026103 SPEAKER BLUE TOOTH AND 4GB  $89.69 
72026200 RB ROD HOLDER II ONLY BLACK  $39.48 
72026201 RB ROTATING PLATFORM 102MM(4""  $33.63 
72026202 RB G-HOLD 50MM(2") SINGLE BLK  $24.85 
72026203 RB GUNHOLD (1)  $30.70 
72026204 RB CAMERABOOM 600 PRO SERIES  $103.84 
72026205 RB CAMERA MOUNT KIT  $58.50 
72026206 RB BLACK RIBPORT / STARPORT W/  $49.72 
72026207 RB STARPORT BLACK  $24.85 
72026208 RB STARPORT HD BLACK  $- 
72026209 RB ROD HOLDER II STARPORT HD K  $49.72 
72026210 RB RAILMNT AKA STARPORT COMB B  $42.41 
72026211 RB 5" FIXED EXTENDER  $21.93 
72026212 RB STARPORT HD TRACMOUNT KIT  $- 
72026213 RB MINIPORT TRACMOUNT  $- 
72026214 RB VISIBILITY KIT II  $146.26 
72026217 FISHFINDER FIT KIT PASSPORT 12  $58.50 
72026218 FLAT MOUNT TRACK KIT  $16.55 
72040011 RHINO UNIVERSAL SIDE LOADER  $226.32 
72040012 RHINO NAUTIC KAYAK LIFTER OS  $939.78 
72040013 RHINO 2" RECEIVER T-LOADER OS  $433.32 
72042001 TIE DOWN STRAPS HOBIE- 12 FOOT  $34.49 
72043001 TIE DOWN STRAPS HOBIE- 15 FOOT  $38.63 
72050001 BOARD COVER - ECLIPSE 12.0  $141.88 
72050002 BOARD COVER - ECLIPSE 10.5  $141.88 



72050005 RAIL PROTECTION KIT, ECLIPSE  $165.60 
72050006 PAINT, 2oz BOTTLE BLUE ECLIPSE  $49.67 
72050007 PAINT, 2oz BOTTLE YELLOW ECLIP  $49.67 
72050008 PAINT, 2oz BOTTLE SILVER ECLIP  $49.67 
72050011 COVER - ECLIPSE DRIVE  $215.90 
72050012 BOW HANDLE KIT, ECLIPSE  $131.09 
72050013 ECLIPSE NOSE-RAIL GUARD KIT  $233.29 
72061001 PIN, LOCK SINGLE - KAYAK DOLLY  $11.44 
72062001 SIDEKICK - LOCK PIN SINGLE  $13.79 
72062011 SIDEKICK - MOUNT BRACKET BOTTO  $6.65 
72062021 SIDEKICK - MOUNT BRACKET TOP  $6.65 
72062041 SIDEKICK - XBAR MIDDLE  $43.46 
72062061 SIDEKICK - ADP PLATES +07 ADVE  $41.39 
72062062 SIDEKICK - MOUNT KIT W/CTR BAR  $86.92 
72062063 VENT CAP - SIDEKICK AMA FLOAT  $7.44 
72062101 SIDEKICK AMA KIT - LT GRAY  $359.35 
72062201 SIDEKICK - BENT ARM  $69.54 
72063101 SIDEKICK AMA KIT - DK GREEN  $- 
72066001 ST-TURBO FIN KIT V2/GT - GRAY/  $272.41 
72066021 ST-TURBO FIN KIT V2/GT - RED/B  $272.41 
72066031 ST-TURBO FIN KIT V2/GT - BLU/B  $272.41 
72067002 ST-TURBO V2 FIN KIT MD180 BK/G  $295.60 
72067032 TURBO FIN KIT - KICK UP  $311.54 
72076001 STAKEOUT POLE - KAYAK FISHING OS  $139.38 
72097001 KC WELDER PRO WITH ROD STOCK  $109.01 
72103001 MOUNT, SHOCK CORD  $1.92 
72104001 ADJ SHOCK CORD HOOK 3/8"  $4.40 
72402001 KAYAK SEAT -  PADDLE  $185.47 
72409001 STRAP W/HOOK - PADDLE SERIES  $31.73 
72410001 DAGGERBOARD COVER TIGER/FOX/FX  $141.88 
72542001 DECAL DOME, HCWW GOLD 1.75"  $7.44 
72545001 DECAL DOME, MD180  $6.33 
72721001 KAYAK DODGER / SILVER  $229.08 
72722001 KAYAK DODGER / RED  $229.08 
72730002 DODGER - ISLAND / SILVER  $295.32 
72730004 DODGER - ISLAND / RED  $295.32 
74010001 PADDLE BLADE RIGHT  $69.54 
74011001 PADDLE BLADE LEFT  $69.54 
74030002 PADDLE DRIP RING FG/ALU SHAFT  $2.88 
74035001 FOLDING PADDLE CLIP, 1-1/8"  $7.44 
74049001 T- HANDLE, PADDLE  $28.97 
74050001 PADDLE LEASH-WEB/ELASTIC  $37.25 
74051001 PADDLE LEASH-COIL  $41.39 
74052001 HOBIE FISH ROD LEASH- WEBBING  $33.31 



74052101 LEASH KIT - MIRAGEDRIVE  $53.60 
74070001 PADDLE CLIP PA12  $14.89 
74076101 BUTTON ASSY - PADDLE FERRULE  $9.26 
74076102 SPRING BUTTON, PADDLE SHAFT  $6.65 
74077001 i - PADDLE, 4 PIECE  $128.33 
76050001 HANDLE KAYAK (MOLDED)  $28.97 
76055001 HANDLE, MIDSHIP  $27.59 
77701801 RECTANGULAR HATCH KIT, VERTICA  $188.37 
77800048 SIDESCAN FF PLATE PASSPORT KIT  $59.33 
78510001 BUNGEE HOOK  $4.40 
78520001 EYELET HOLD DOWN  $4.40 
78535001 FOOT BRACE ASSY-LT  $26.07 
78536001 FOOT BRACE ASSY-RT  $26.07 
78540001 TRACK ADJ - BRACE/QUEST  $23.17 
78552001 GUDGEON - QUEST 13 T-N-S NEWER  $22.07 
78560001 MAP POCKET FRAME w/MESH  $- 
78561001 MAP POCKET MESH MOLDED HOOKLES  $23.39 
78565001 MAP POCKET MOLDED MESH W/FRAME  $29.24 
79050011 CAM LEVER / CLICK-N-GO  WELL  $6.65 
79050021 SPRING / i - CLICK-N-GO  WELL  $4.62 
79050061 CASSETTE PLUG/i- SERIES  $42.77 
79050211 DRAIN PLUG - 3/8" W O-RING&KEE  $14.48 
79050212  $1.09 
79050214 SCUPPER PLUG / i-SERIES  $11.44 
79050306 RUDDER READY KIT w/HARDWARE  $33.11 
79050400 i - WRENCH-MIRAGEDRIVE SS  $33.31 
79052001 i - CUP HOLDER KIT  $40.56 
79052003 i - INFLATION PUMP / STANDARD  $88.31 
79052004 INFLATION PUMP w/GAUGE  $63.74 
79052005 i - INFLATION PUMP / ELECTRIC  $68.99 
79052006 i - HARDWARE ACCESSORY KIT  $44.15 
79052007 i - SEATBACK  $184.92 
79052009 i - HULL REPAIR KIT (MANGO/SLA  $35.87 
79052010 ROLLING TRAVEL BAG i12S  $198.72 
79052011 ROLLING TRAVEL BAG  i14T  $215.28 
79052012 ROLLING TRAVEL BAG  i9S  $198.72 
79052013 i - O RING LG -  INFLATION PUM  $9.26 
79052014 i - O RING SM - INFLATION PUMP  $- 
79052015 i - TRI RING KIT / SAGE  $66.23 
79052016 i - TRI RING KIT / SUNDANCE  $60.71 
79052017 i - VALVE ASSEMBLY  $38.63 
79052018 i - GLUE 30g TUBE  $13.79 
79052019 i - PADDLE HOLDER  $7.44 
79052023 i - HULL REPAIR KIT (MOSS/SMOK  $33.11 

O-Ring .299ID x .505OD Neopren



79052251 SAIL KAYAK MAST 4-PC  $209.76 
79104101 XBAR AI V2 - REAR 2015-  $177.00 
79104201 XBAR AI V2 - FWD 2015-  $354.00 
79501001 DAGGERBOARD WELL PLUG - ADV  $19.31 
79502001 DAGGERBOARD / ADV - REV 16  $236.19 
79503001 CLEAT MOUNT, ISLAND SPINNAKER  $13.79 
79503601 AKA AI V2 - RT REAR 2015-  $220.88 
79503701 AKA AI V2 - LT REAR 2015-  $220.88 
79503801 AKA AI V2 - RT FWD 2015-  $177.00 
79503901 AKA AI V2 - LT FWD 2015-  $177.00 
79510011 MAST -  ADV ISLAND ('08 / FEMA OS  $901.14 
79510015 MAST -  ADV ISLAND 2015+ OS  $901.14 
79510201 BAG-ADV ISLAND MAST/SAIL -2014  $120.25 
79510202 BAG - TANDEM ISLAND MAST/SAIL  $139.09 
79510221 BAG-ADV ISLAND MAST/SAIL 2015+  $120.25 
79510721 MOUNT XBAR V2 - TOP  $20.27 
79510731 MOUNT XBAR V2 - BOTTOM  $20.27 
79511001 BASE / PIN - ISLAND MAST  $23.17 
79511021 MAST CAP - AI (SWIVEL TIP)  $24.83 
79511101 BASE / HOLE - '08+ ISLAND MAST  $24.62 
79511991 SAIL ADV ISL CUSTOM COLOR OS  $1,345.50 
79512001 DRUM - ISLAND MAST FURLE -2014  $23.17 
79512002 DRUM - ISLAND MAST FURLE 2015+  $23.17 
79512201 AKA AI V2 - RT FWD 2011-2014  $178.46 
79512301 AKA AI V2 - LT FWD 2011-2014  $178.46 
79512401 AKA AI V2 - LT REAR 2011-2014  $225.27 
79512501 AKA AI V2 - RT REAR 2011-2014  $225.27 
79512601 XBAR AI V2 - FWD 2011-2014  $354.00 
79512701 XBAR AI V2 -  REAR 2011-2014  $177.00 
79513001 BACKING RING, AI MAST RECEIVER  $14.48 
79514101 MAST RECEIVER CUP ASSY AI '08+  $140.41 
79515001 SAIL ADV ISL RED/GRAY/WHT OS  $1,113.36 
79516001 SAIL ADV ISL TURQ/PAPAYA/WHT OS  $1,035.00 
79517001 V-FRAME, STRUT  $33.11 
79518001 V-FRAME, BASE  $63.47 
79519001 V-FRAME, TURNBUCKLE-BRASS  $44.15 
79520201 COLLAR - AKA  $6.65 
79520301 END CAP - AKA  $14.48 
79520311 AKA,  FWD - TI  $196.02 
79520401 AKA, LT REAR - TI  $235.51 
79520501 AKA, RT REAR - TI  $235.51 
79520604 AKA LOCK KIT HINGED HOOK  $150.70 
79522202 LOCK BEARING/SPRING TYPE- AKA  $27.52 
79523001 SOCKET - AKA BRACE LOCK  $7.81 



79523101 BRACE ASSY AKA AI V1 -22"  $100.73 
79523201 BRACE ASSY AKA AI V2 -23"  $106.25 
79523301 BRACE ASSY AKA AI V2 2015 -21"  $113.01 
79524001 CAP - AKA BRACE LOCK  $7.81 
79525001 BALL - AKA BRACE  $7.81 
79526001 BAG - AKA CARRY - AI V1  $110.11 
79526002 BAG - AKA CARRY - V2 ALL  $110.11 
79526201 ISLAND PADDLE / AKA BRACE KIT  $80.44 
79526211 PADDLE STORAGE WEB ASSY ISLAND  $27.59 
79527001 TRAMP SET AI (- 2014) - BLACK  $644.46 
79527011 TRAMP SET AI (- 2014) - GRAY  $644.46 
79527101 LACING ROD - AI TRAMP  $33.11 
79527201 TRAMP AI/TI - WEB/BUCKLE ASSY  $24.83 
79530201 XBAR, REAR - TI  $235.51 
79531101 CLEAT SUPPORT WEDGE w/FAIRLEAD  $14.48 
79531111 CLEAT SUPPORT WEDGE  $6.65 
79531201 XBAR, FWD - TI  $393.49 
79532001 SPRING ASSEMBLY, ISLAND ADV  $14.48 
79532201 EDGE GUARD - ISL XBAR  $14.48 
79533001 BEARING PLATE, MAST FURLER  $14.48 
79535001 CONNECTION PIN, AKA/XBAR  $17.93 
79537001 CLIP, ISLAND AKA BRACE  $14.48 
79538001 PADDLE CLIP, ISLAND XBAR  $14.48 
79538101 ISLAND PADDLE HOLDER KIT  $46.35 
79538201 PULL TAB - WEBBING LOOP  $6.33 
79545001 DECAL, HOBIE DOME, GOLD 2.75"  $7.44 
79546001 SAIL ADV ISL WHT/GRAY/TURQ OS  $1,035.00 
79546701 SAIL ADV ISL V2 BAHAMA  $1,069.50 
79547701 SAIL ADV ISL V2 ARUBA  $1,069.50 
79551001 LOCKING LEVER, MAST RECEIVER  $14.48 
79552001 STEP PIN PLATE / ISLANDS  $29.24 
79555001 LEAF SPRING, MAST RECEIVER  $7.81 
80010401 MIRAGE GT SPARE PARTS KIT  $269.51 
80010501 MIRAGEDRIVE GT - ST BLUEFINS  $996.36 
80012001 PEDAL RETAINER BUNJEE ASSY  $26.21 
80012101 MIRAGEDRIVE PA17 GTT - TURBO B  $1,075.02 
80012102 MIRAGEDRIVE PA17 GTT - TURBO G  $1,075.02 
80012501 MIRAGEDRIVE GTT - TURBO BLUEFI  $1,052.94 
80013401 MIRAGE GTT SPARE PARTS KIT  $310.09 
80013501  $996.36 
80019011 LINE KIT PRO ANGLER CONTROL RE  $82.79 
80019012 LINE KIT AI / TI CONTROL REPLA  $82.79 
80020001 LINE KIT MIRAGE RUDDER / UNIVE  $125.57 
80025001 LINE CONTROL ASSY - (1) LINE A  $24.62 

MIRAGEDRIVE GTi - ST BLUEFINS



80043000 HOBIE TRAX "2-30" FRAME ONLY  $144.90 
80043001 HOBIE TRAX "2-30" CART PLUG-IN  $418.14 
80043012 HOBIE TRAX"2-30" WHEEL REPL V2  $112.62 
80044021 HOBIE-TRAX 2 CART FRAME V2  $172.61 
80044031 HOBIE PLUG-IN CART PAD  $23.39 
80044051 HOBIE-TRAX HUB LOCK KNOB  $23.39 
80044101 HOBIE TRAX "2" CART PLUG-IN  $373.01 
80044112 HOBIE TRAX "2" WHEEL REPL V2  $102.38 
80044151 PIN W/SHOCK CORD - CART KEEPER  $20.27 
80044201 CART POST COLLAR/CLAMP KIT  $24.62 
80044202 CRADLE / PLUG-IN CART  $77.27 
80045000 CAP - HOBIE CART DOME  $1.92 
80045001 HOBIE STANDARD PLUG-IN CART  $248.68 
80045041 HOBIE STANDARD CART - WHEEL  $36.21 
80045101 i-SERIES / ECLIPSE PLUG-IN CAR  $245.75 
80045111 FRAME STD i-SERIES/ECLIPSE CAR  $84.83 
80045200  $93.60 
80045201 i-SERIES / ECLIPSE TRAX PLUG-I  $373.01 
80046001 HOBIE HEAVY DUTY PLUG-IN CART  $318.89 
80046021 PIN, QUICK CLIP KAYAK CART  $7.44 
80046041 HVY DUTY CART - WHEEL REPL.  $70.99 
80046100 HOBIE DOLLY, AI/TI TUFF-TIRE OS  $687.24 
80046101 HOBIE DOLLY, PA-UNI TUFF-TIRE OS  $654.12 
80046102 HOBIE DOLLY, PA17 TUFF-TIRE OS  $721.74 
80046120 HANDLE REPLACE- KAYAK DOLLY OS  $56.57 
80046123 STRAP REPLACEMENT - PA17 DOLLY  $91.07 
80046124 CRADLE REPLACEMENT PA17  DOLLY  $213.90 
80046141 WHEEL, DOLLY TUFF-TIRE  $92.14 
80046200 HOBIE DOLLY, AI/TI BEACH-TIRE OS  $923.22 
80046201 HOBIE DOLLY, PA-UNI BEACH-TIRE OS  $888.72 
80046202 HOBIE DOLLY, PA17 BEACH-TIRE OS  $957.72 
80046241 WHEEL, DOLLY BEACH 42cm  $206.25 
80047001 HOBIE CART - FOLD AND STOW  $336.44 
80047014 SPARE PARTS KIT, FOLDING KAYAK  $12.13 
80047021 WHEEL - HOBIE FOLD AND STOW  $54.11 
80047201 CART C-TUG KAYAK CART  $241.36 
80048006 GEAR HEAD MOUNT  $34.49 
80048007 ADAPTER, GEAR-HEAD TRACK  $- 
80048009 BACKING PLATE w/FASTENERS  $9.78 
80048010 EXTENDER ADJUSTABLE 6.5"  $23.45 
80048011 ROD HOLDER - BAIT CASTER ONLY  $26.21 
80048014 ROD HOLDER - RODMASTER II ONLY  $27.59 
80048015 ROD HOLDER - ROCKET LAUNCHER O  $27.59 
80048020 CAMERA MOUNT POST - SCOTTY  $35.87 

FRAME i-TRAX CART



80048021 TRACK, 1" LOW PROFILE SCOTTY  $- 
80048022 TRACK, 4" LOW PROFILE SCOTTY  $- 
80048023 TRACK, 8" LOW PROFILE SCOTTY  $- 
80049011 FLUSH DECK MOUNT W/HARDWARE  $31.73 
80052011 DECK / SIDE MOUNT W/HARDWARE  $22.13 
80055011 ROD HOLDER - FLY ONLY  $28.97 
80100501 SAIL FEEDER - HOBIE  $24.83 
80181001 YOKE TILLER CONNECTOR  $13.10 
80200000 TURBO H14 JIB RIGGING KIT  $1,896.12 
80200010 DOLPHIN STRIKER KIT H14  $- 
80201300 TURBO JIB BLOCK SUPPORT WIRE  $120.05 
80503701 ACORN NUT - VANTAGE  $4.62 
80550005 BATTEN MAIN PKT PROTECTOR KIT  $19.31 
80660000 AUSSIE H16 JIB HALYARD KIT W/  $503.70 
81000101 PEDAL PAD, LT CAMO MD180  $13.79 
81000201 PEDAL PAD, RT CAMO MD180  $13.79 
81000301 PEDAL PAD, LT MD180  $13.79 
81000401 PEDAL PAD, RT MD180  $13.79 
81000901 STICKER - REV, RED  $0.68 
81013001 STEERING HANDLE 2011 STD LENGT  $24.62 
81014001 STEERING CRANK SPORT/REV 11  $38.63 
81015001 STEERING HANDLE ASSY MIRAGE  $15.17 
81016001 STEERING CRANK REV 13/OUTBK  $38.63 
81017001 STEERING CRANK, OUTFTR/OASIS  $40.01 
81023001 LINE-CONTROL 700 LB GRAY  $1.09 
81030001 ZIP TIE, 6-5/16", BLK NYLON  $- 
81035001 RUDDER UP/DOWN HANDLE  W/SCREW  $- 
81035011 HANDLE - UP/DOWN RETRO KIT  $34.49 
81037001 DRIVE SEAL / MIRAGEDRIVE  $23.45 
81038001 DRIVE SEAL / i - MIRAGEDRIVE  $23.45 
81042001 PADDLE VELCRO TIE  $4.40 
81050001 OUTHAUL BLOCK (INJ/MOLD)  $7.44 
81051001 LINE-CONTROL 1,000 lb, BEIGE  $1.15 
81055001 SPROCKET GUARD FWD (INJ/MLD)  $6.61 
81080001 SPROCKET SHAFT MIRAGE  $42.77 
81090001 DRUM SHAFT MIRAGE  $31.73 
81095001 ALIGNMENT PIN - MIRAGEDRIVE  $5.49 
81110001 SHAFT #5 MIRAGE  $23.45 
81123001 IDLER PULLEY - GT W/BEARINGS  $14.48 
81127001 SPROCKET GT - W/ BEARINGS AND  $44.15 
81129023 GT SPROCKET / MAST KIT STD  $170.98 
81129123 GTT SPROCKET / MAST KIT TURBO  $202.86 
81155001 BOLT DRUM/CRANK  $6.61 
81156201 ROLLER BEARING, IDLER PULLEY  $0.28 



81156301 ROLLER BEARING, SPROCKET  $0.42 
81156401 ROLLER BEARING, DRUM (REQ 15)  $0.28 
81163001 MAST - V2 STANDARD - THREADED  $33.11 
81171002 DRUM UPDATE KIT V1 TO GT  $384.72 
81172001 DECAL, PEDAL ADJUSTMENT  $1.92 
81175001 DRUM - GT WITH BEARINGS  $80.44 
81181001 SPINE MIRAGEDRIVE - PLASTIC  $48.29 
81188001 MIRAGEDRIVE 180 TURBO SQ CRANK  $1,302.72 
81188101 MIRAGEDRIVE 180 TURBO CAMO SQ  $1,302.72 
81189001 MIRAGEDRIVE 180 STD SQ CRANK  $1,244.76 
81189101 MIRAGEDRIVE 180 STD i-SERIES S  $1,244.76 
81190001 FIN - MIRAGEDRIVE / COMFORT  $60.71 
81192001 MIRAGE ST TURBO FIN - GRAY/BLK  $81.13 
81192021 MIRAGE ST TURBO FIN - RED/BLK  $81.13 
81192031 MIRAGE ST TURBO FIN - BLU/BLK  $81.13 
81193001 MIRAGE ST FIN - GRAY/BLACK  $62.29 
81193021 MIRAGE ST FIN - RED/BLACK  $62.29 
81193031 MIRAGE ST FIN - BLU/BLACK  $62.29 
81198001 MAST - ST TURBO FIN/UNIVERSAL  $44.15 
81198101 MAST - V2 ST TURBO - THREADED  $48.29 
81202001 CHAIN ASSY, MIRAGEDRIVE V2  $81.13 
81203001 IDLER CABLE, MIRAGEDRIVE V2  $37.66 
81211001 IDLER CABLE ASSY (14 3/4) MIRA  $42.77 
81221011 PEDAL REPLACEMENT LEFT  $27.52 
81221101 PEDAL ASSY LEFT/ NO PAD MD180  $104.31 
81222011 PEDAL REPLACEMENT RIGHT  $27.52 
81222101 CAP - PEDAL CRANK  $2.88 
81222201 PEDAL ASSY RIGHT/ NO PAD MD180  $104.31 
81223001 PEDAL / CRANK ASSY LEFT GRAY  $86.93 
81224001 PEDAL / CRANK ASSY RIGHT GRAY  $86.93 
81226001 PEDAL STRAP REPLACEMENT RIGHT  $14.48 
81227001 PEDAL STRAP REPLACEMENT LEFT  $14.48 
81230001 PEDAL ADJUSTMENT PIN  $13.79 
81236002 PEDAL ADJUST HANDLE ASSY GRAY  $27.59 
81242001 SPRING COMPRESSION 1-1/4" LNG  $1.92 
81244001 STEERING SPRING  $3.57 
81245001 PIN, ROLL 1/8 x 1-1/4 (420 SS)  $1.09 
81259001 SEAT STRAP w/HOOK  $23.45 
81265001 PLUG-IN SEAT PEG (OLDER)  $6.33 
81265101 PLUG-IN SEAT CONNECTOR KIT ADJ  $31.73 
81267001 HOOK, KAYAK SEAT  $14.48 
81268001 MIRAGE BACKREST - EXPAND PEG  $295.60 
81269001 MIRAGE BACKREST - TWIST LOCK  $295.60 
81276201 TWIST LOCK SEAT ADAPTER KIT  $18.82 



81350001 RUDDER MOUNT-MIR  $82.79 
81360001 RUDDER PIN MIRAGE S.S.  $34.49 
81361001 RUDDER MOUNT PIN MIR 4-1/2"  $26.21 
81362001 RUDDER MOUNT PIN TDM/OUT/SPT  $26.21 
81372001 STEERING CRANK ADV/OUTFITTER  $41.39 
81375001 COMPRESSION SPRING (1)  $4.40 
81380001 CONTROL ARM - UP/DOWN  $41.39 
81385001 WASHER 13/16 EDPM RUBBER  $1.92 
81390001 RUDDER MIRAGE - ORIGINAL STYLE  $35.87 
81391002 RUDDER UP/DOWN LINE SYSTEM  $260.82 
81391011 GUDGEON, T-N-S RDR  $15.93 
81392001 CONTROL ARM, TWIST-N-STOW RDR  $42.77 
81394001 RUDDER PIN, TWIST N' STOW RDR  $14.48 
81394021 RUDDER PIN, TWIST N' STOW 2011  $14.48 
81395001 RUDDER ASSY W/SM BLADE - TWIST  $133.85 
81395201 RUDDER BLADE - SMALL / TWIST-N  $53.60 
81396001 RUDDER ASSY W/LRG BLADE - TWIS  $155.04 
81397001 RUDDER BLADE - LARGE / TWIST-N  $69.54 
81397101 i / QUEST - RUDDER BLADE - LAR  $57.95 
81399001 BOLT TWIST-N-STOW DRUM  $7.81 
81400001 TUBING HI-DENSITY PE  $1.09 
81401001 HANDLE CAP - SEAT  $2.88 
81401101 HANDLE CAP - RUDDER  $2.88 
81401201 HANDLE CAP - SKEG  $2.88 
81401301 HANDLE CAP - KICKSTAND  $2.88 
81401401 HANDLE CAP - DRAIN  $2.88 
81405001 STEERING TUBE HOLDER  $2.01 
81405101 CAP - STEERING TUBE "O" RETAIN  $2.01 
81406101 CAP, UP INSERT  $2.01 
81407001 HANDLE DECAL - DOWN  $1.92 
81407101 HANDLE CAP - DOWN  $2.88 
81408001 HANDLE - DECAL TYPE  $7.81 
81408101 HANDLE - CAP TYPE  $7.81 
81410001 CAM LOCK KNOB  $13.79 
81412001 AKA CASTING GLUE KIT - V2 AKAS  $17.93 
81450001 CHEEK BLOCK - HOBIE  $23.17 
81486021 SHIFTER SET LEFT/FORWARD "V2"  $15.93 
81491021 SHIFTER SET RIGHT/REVERSE "V2"  $15.93 
81500002 FIN V2 MD180 STD  $63.74 
81501002 FIN V2 MD180 TURBO  $88.38 
81501111 MD180 V2 BOOM-MAST-STD FIN KIT  $381.09 
81501112 MD180 V2 BOOM-MAST-TBO FIN KIT  $468.03 
81503002 BOOM V2 MD180 DRIVE  $88.38 
81503100 SPLIT RING 3/8" 304 SS  $0.40 



81527002 SPINE ASSY V2 MD180  $530.33 
81527021 MD180 ST PARTS KIT  $228.94 
81527022 MD180 ST TURBO PARTS KIT  $273.86 
81528002 MAST V2 MD180 STD (ADJ)  $36.21 
81529002 MAST V2 MD180 TURBO (ADJ)  $55.05 
81535001 CASSETTE PLUG-BLK & GRAY  $57.95 
81536001 CASSETTE PLUG TALL - PRO / OUT  $53.60 
81600001 COVER, CLICK-N-GO, LEFT  $6.65 
81600101 COVER, CLICK-N-GO, RIGHT  $6.65 
81600201 COVER - LEVER, CNG LT - INSIDE  $6.65 
81600301 COVER - LEVER, CNG RT - INSIDE  $6.65 
81600401 COVER - LEVER, CNG LT -OUTSIDE  $6.65 
81600501 COVER - LEVER, CNG RT -OUTSIDE  $6.65 
81602101 SPRING CLICK-N-GO LEFT  $1.92 
81602201 SPRING CLICK-N-GO RIGHT  $1.92 
81611101 CLICK-N-GO ASSY LEFT/PORT  $89.69 
81611201 CLICK-N-GO ASSY RIGHT/STBD  $89.69 
81701000 RUDDER BLADE OUTBACK/COMP/DUO  $50.70 
81701119 STRAP ASSY, RT 2019+ COMPASS  $23.45 
81701120 STRAP ASSY, LT 2019+ COMPASS  $23.45 
81711000 COMPASS LOADER  $52.65 
82010001 BATTEN UNIVERSAL 107-7/8" OS  $91.07 
82020001 BATTEN UNIVERSAL 82-3/8" OS  $67.61 
82030001 BATTEN UNIVERSAL 90-1/8" OS  $86.93 
82040001 BATTEN UNIVERSAL 42-11/16  $48.29 
82060001 BATTEN UNIVERSAL 100 9/16 OS  $89.69 
82070001 BATTEN UNIVERSAL 67-1/2" JIB ( OS  $41.39 
82080001 BATTEN UNIVERSAL 43 3/4" JIB  $34.49 
82420000 COVERS - RUDDER (PAIR)  $140.41 
82420001 COVER, RUDDER TI/2011+ AI  $69.54 
84430128 DVD - GETAWAY RIGGING  $27.59 
84430202 DVD - SHARING THE WIND, MOMENT  $59.33 
84500011 LUMBAR PAD PRO ANGLER  $89.82 
84500021 SEAT STRAP ASSY - PRO A  $26.07 
84500031 SEAT STRAP BUCKLE SS - PRO A  $26.07 
84500101 RUDDER BLADE, PRO A  $50.70 
84500103 STRUT TUBE, PRO ANGLER H-BAR  $52.65 
84500104 FORK, PRO ANGLER H-BAR  $7.81 
84500105 FOOT MOUNT, ANGLED / H-BAR  $7.81 
84500106 PAD H-BAR  $28.97 
84500108 CLIP, PRO ANGLER H-BAR  $6.65 
84500109 STRUT TUBE-SHORT, PRO A H-BAR  $38.02 
84500110 FOOT MOUNT, STRAIGHT /  H-BAR  $7.81 
84500115 PA17 H-BAR H-RAIL ADAPTER KIT  $90.68 



84500116 HOBIE H-BAR / PRO ANGLER  $495.89 
84500117 HOBIE H-BAR / COMPASS  $476.87 
84500119 HOBIE H-BAR, OUTBACK / UNI  $471.02 
84500120 HOBIE H-BAR, OUTBACK 2019+  $466.63 
84500121 HOBIE H-BAR PASSPORT 12  $443.23 
84500201 RUDDER HOUSING, UNDER HULL  $14.48 
84500402 RDR MOUNT, UNDER HULL (SCREW)  $53.60 
84500411 RUDDER MOUNT PA17  $55.19 
84500501 RDR STEERING DRUM (PIN TYPE)  $20.27 
84500502 RDR STEERING DRUM (SCREW TYPE)  $20.27 
84500601 COVER PLT, RDR SYSTEM  $15.93 
84500811 BUNGEE LOOP TAB  $3.46 
84500821 KICKSTAND WEBBING ASSEMBLY  $24.83 
84500911 ROD HOLDER ASSY (L) - PRO A  $91.07 
84500921 ROD HOLDER ASSY (R) - PRO A  $91.07 
84501101 GASKET, ROD HOLDER PLT  $6.33 
84501113 MOUNT ASSEMBLY / H-RAIL  $33.63 
84501201 HATCH LINER - PRO ANGLER 12  $160.91 
84501211 ROD HOLDER ASSY PA12 LT  $92.14 
84501221 ROD HOLDER ASSY PA12 RT  $92.14 
84501222 GASKET - PA12 ROD HOLDER  $6.33 
84501231 UNDER SEAT TACKLE BOX WEBBING  $31.73 
84501521 WASHER, 3/16x 1/2 OD, RUBBER  $1.09 
84501701 HATCH LINER - PRO ANGLER 17  $173.88 
84501901 HATCH LINER - PRO ANGLER 14  $173.88 
84501921 HATCH LATCH KIT - ADJUSTABLE  $38.63 
84502001 MOUNTING BOARD, RT, BLK  $88.31 
84502011 MOUNT BOARD, 2015+, LT BLK  $88.31 
84502101 MOUNTING BOARD, LT, BLK  $88.31 
84502111 MOUNT BOARD, 2015+, RT  $88.31 
84502121 DLX MOUNTING BRD KIT - PRO A  $75.89 
84502201 CUTTING BRD, CNTR, BLACK  $44.15 
84502211 PA14 V1 MID HATCH BUNGEE ASSY  $19.31 
84502301 SISTER SCREW, PRO RDR ASSY  $24.83 
84502401 FLOOR MAT RT-BLK  $24.83 
84502501 FLOOR MAT LT-BLK  $24.83 
84502901 KNOB, SEAT FRONT  $17.93 
84504001 TORSION SPRING, RUDDER  $7.44 
84504101 SIDE HANDLE ASSY - UNIVERSAL  $88.38 
84504201 TUBE, STERN HANDLE  $20.27 
84504301 DECAL, RULER  $6.33 
84504401 HANDLE END FITTING  $14.48 
84504501 HANDLE BOW - PRO ANGLER  $34.76 
84504601 PA12 SIDE CARRY HANDLE  $80.44 



84504801 TUBE STERN HANDLE, BLUE GRAY  $26.32 
84504901 DECAL RULER PA12  $6.61 
84505201 STORAGE BUCKET DIVIDER SET OF  $6.61 
84505901 ADAPTER KIT, HUMMINBIRD FF  $19.31 
84506021 DUAL STEERING RISER KIT - PA  $71.66 
84507501 VANTAGE ST CHAIR - COMPLETE  $1,155.61 
84507521 BACK FRAME ASSEMBLY - VANTAGE  $283.78 
84507531 BOTTOM FRAME ASSEMBLY - VANTAG  $258.92 
84507541 ARMREST FRAME ASSEMBLY - VANTA  $579.27 
84507551 BACK CONTROL LINE - VANTAGE  $24.83 
84507561 BOTTOM CONTROL LINE - VANTAGE  $24.83 
84507571 CHAIR FEET - VANTAGE  $16.08 
84507581 BOA LINE ASSEMBLY - VANTAGE  $59.96 
84507601 CHAIR FOOT MOUNT  $13.88 
84507611 TRIANGLE RING - VANTAGE  $9.26 
84507701  $936.19 
84507703 CUP HOLDER ASSY. i VANTAGE SEA  $16.08 
84507711 ARM REST PAD PACK - VANTAGE  $19.31 
84507721 PAD UNDER SEAT PA12  $17.93 
84507761 INNER SPACER - VANTAGE  $1.92 
84507771 ANCHOR TROLLEY INSERT CAPS  $0.54 
84507791 OUTER SPACER - VANTAGE  $1.92 
84507801 REPLACEMENT FABRIC KIT VANTAGE  $294.02 
84507821 VANTAGE CT SEAT  $936.19 
84507822 VANTAGE CT SEAT CLIP UPGRADE K  $15.17 
84507851 FABRIC COVER - VANTAGE  $6.94 
84507861 FABRIC COVER WITH PADEYE - VAN  $6.94 
84507881 BOA STEERING LINE TENSION REPL  $68.99 
84508001 VANTAGE KICKSTAND ASSEMBLY  $64.35 
84508201 PIVOT BOLT - VANTAGE  $19.31 
84509001 BATTEN CAP 1/8 DIA - KAYAK SAI  $7.44 
84512002 SAIL KIT KAYAK RED/SILVER OS  $641.70 
84513002 SAIL KIT KAYAK CHARTREUSE/SILV OS  $641.70 
84514002 SAIL KIT KAYAK PAPAYA/ORANGE OS  $641.70 
84515002 SAIL KIT KAYAK AQUA/CHARTREUSE OS  $641.70 
84516002 i - SAIL KIT KAYAK WHITE/PAPAY OS  $661.02 
84517001 FURLER KIT-KAYAK SAIL  $130.40 
84517002 RING 3/16 x 3/4" ID S.S.  $6.33 
84517051 DOWNHAUL CLIP  $9.26 
84518001 FAIRLEAD DOUBLE KAYAK FURLER  $23.17 
84550001 MAST RECEIVER - MIRAGE KAYAK S  $24.83 
84560001 CAP, PLASTIC MAST RECEIVER  $6.33 
84612001 RUDDER BLADE, LARGE PRO A  $55.57 
84619001 STEERING RISER  $16.08 

VANTAGE CT SEAT - iSERIES



84620101 1" RAM BALL / H-RAIL  $48.26 
84620111 KNOB, REPLACEMENT H-RAIL CLAMP  $3.46 
84620151 1-1/2" RAM BALL / H-RAIL  $59.96 
84620152 GEAR HEAD / H-RAIL  $55.57 
84620153 MIGHTY MOUNT / H-RAIL  $36.55 
84620154 SCOTTY DECK-SIDE MOUNT / H-RAI  $49.72 
84620200 G-HOLD / H-RAIL  $46.91 
84620202 MINIPORT / H-RAIL  $42.77 
84620204 STARPORT HD / H-RAIL  $40.01 
84621001 CUP HOLDER / H-RAIL  $33.63 
84622001 MOUNTING PLATE / H-RAIL  $33.63 
84623001 TACKLE BIN / H-RAIL  $76.05 
84623004 MINI BIN ASSY, H-RAIL  $80.44 
84624011 TRAY, H-RAIL TACKLE BIN  $40.56 
84625001 ROD RACK / H-RAIL (ONE)  $40.94 
84625312 PA H-RAIL UPGRADE KIT PA12 OS  $298.41 
84625314 PA H-RAIL UPGRADE KIT PA14 OS  $298.41 
84626001 H-RAIL BOLT ON RAIL KIT 9"  $40.94 
84626101 H-RAIL BOLT ON RAIL KIT 21"  $51.18 
84626104 H-RAIL BOLT ON KIT, OUTBACK  $106.77 
86505001 STEERING CRANK PA12  $27.59 
86505121 DUAL STEERING LINE ASSEMBLY  $24.83 
86505401 SECONDARY STEERING HANDLE  $12.13 
86505601 LOWRANCE READY COVER PLATE  $40.94 
86505611 THRU HULL PLUG  $13.88 
86505613 THRU HULL 3 WAY PLUG KIT  $37.66 
86505621 HOBIE THRU HULL WIRING KIT  $43.45 
86505701 RUBBER ADAPTER PLUGS (TREE)  $16.08 
86506001 LOWRANCE ADAPTER  $9.26 
86506101 LOWRANCE STAR MOUNT ADAPTER  $9.26 
86506201 TRANSDUCER SUPPORT CLIP  $9.26 
86506601 FLOOR MAT PA12 LT  $23.45 
86506701 FLOOR MAT PA12 RT  $23.45 
86507501 VANTAGE XT CHAIR - COMPLETE  $1,234.60 
86509501 SCREW 10-32 X 1-3/4 PHMS SS  $1.92 
87363222 FLOOR STAND, MIRAGE RIGGING  $347.00 
87369116 BOOK, HOBIE-MASTER OF WATER,  $95.62 
88523101 BRACE ASSY (L)  AKA TI -22"  $103.49 
88523102 BRACE ASSY (R)  AKA TI -22"  $103.49 
88527001 TRAMP SET TI / 2015+ AI - BLAC  $644.46 
88527011 TRAMP SET TI / 2015+ AI - GRAY  $644.46 
88527201 TRAMP LEFT SIDE TI / 2015+ AI  $346.38 
88527301 TRAMP RIGHT SIDE TI / 2015+ AI  $346.38 
88991001 CENTERBOARD TDM ISLAND  $258.06 



88991011 CENTERBOARD TOP CVR-TDM ISLAND  $46.35 
88991021 CENTERBOARD PIN-TDM ISLAND  $7.81 
88991031 PIN HOLDER-TDM ISLAND  $14.48 
88991041 KNOB-TDM ISLAND  $14.48 
88991061 SIDE CARRY HANDLE  $35.87 
88991071 FURLER DRUM - TDM ISLAND  $22.07 
88991091 RUDDER BLADE, ISLAND  $89.22 
88991092 RUDDER HOUSING, ISLAND  $41.39 
88991094 GUDGEON, AI/TI  $20.27 
88991098 RUDDER REPLACEMENT KIT TI/AI  $416.76 
88991099 RUDDER-UP STRAP ASSY  $24.83 
88991101 RUDDER PIN-TDM ISL / 2011+ AI  $14.48 
88991121 MAST-TDM ISLAND ASSY (550 CM) OS  $1,579.82 
88991151 DOME DECAL LG HANDLE, H LOGO  $4.40 
88991152 DOME DECAL SM HANDLE - H LOGO  $4.40 
88991191 V-FRAME STRUT 3/8-TDM ISLAND  $33.11 
88991201 V-FRAME BASE 3/8-TDM ISLAND  $63.47 
88991211 V-FRAME TURNBUCKLE 3/8-TDM ISL  $52.43 
88991215 SET SCREW, TI MAST V BRACE  $15.17 
88991221 CONNECTOR END,  AKA BRACE  $7.81 
88991235 DOWEL PIN 3/16 x 1-1/2"  $2.75 
88991271 SPACER BLOCK - MAST CUP -TDM I  $14.48 
88991281 STEERING CRANK, AI/TI (2011)  $41.39 
88991301 STEERING HANDLE-TDM ISLAND  $- 
88991303 AMA - TDM ISLAND PAPAYA * OST  $837.66 
88991305 AMA - TDM ISLAND DUNE * OST  $837.66 
88991311 MAST CAP  AI/TI  $24.62 
88991314 AMA - TDM ISLAND HIBISCUS BR * OST  $837.66 
88991351 KNOB - STEERING HANDLE  $14.48 
88991352 KNOB CAP  $6.94 
88991355 KNOB ASSY. STEERING HANDLE  $27.52 
88995511 SAIL-TDM ISLAND DUNE OS  $1,290.30 
88995512 SAIL-TDM ISLAND SMOKE OS  $1,290.30 
88995513 SAIL-TDM ISLAND BREEZE OS  $1,290.30 
88998507 SAIL-TDM ISLAND V2 BAHAMA OS  $1,311.00 
88998521 BATTEN TI #1 3/8" x 186" W/CAP  $38.63 
88998522 BATTEN TI #2 3/16"x42.5" W/CAP  $15.17 
88998523 BATTEN TI#3 3/16"x 39.5" W/CAP  $15.17 
88998527 SAIL-TDM ISLAND V2 ARUBA OS  $1,311.00 
88998531 BATTEN CAP 1/4 DIA  $14.48 
88999519 BATTEN CAP 3/8 DIA (UAI)  $15.93 
90170001 MAST STEP ASSY / BRAVO OLDER  $121.43 
90170011 MAST STEP ASSY / BRAVO NEWER  $131.09 
90312000 BRAVO EZ LOC RUDDER ASSY - REQ OS  $787.98 



90382011 TILLER ARM - BRAVO EZ LOC  $115.91 
90440011 PAD HIKING STRAP - BRAVO  $24.83 
90440021 HIKING STRAP ADJUST - BRAVO  $4.40 
90440050 BLOCK LARGE BULLET  $33.11 
90500021 MAST KEEPER GATE ASSY  $52.43 
90500022 MAST KEEPER HINGED GATE ASSY  $52.43 
90501031 CSTG A-FRM CONNECTOR  $35.87 
90501036 FURLER LINE KEEPER STRAP ASSY  $19.31 
90502031 KNOB ASSY - MAST GATE  $33.11 
90502041 KNOB ASSY - MAST GATE / NEWER  $42.77 
90550011 BRAVO TILLER EXT - EZ LOC  $180.78 
90560041 TILLER END CAP BRAVO - EZ LOC  $13.10 
90600012 MAST FLOAT BRAVO (UNIVERSAL)  $241.50 
90600021 SADDLE STRAP/BRAVO FLOAT  $7.81 
90600041 MAST FLOAT WEB STRAP/BUCKLE  $30.35 
90610101 COLLAR BRAVO MAST  $8.82 
90610111 DELRIN BALL 3/8 DIA - FURLERS  $1.92 
90610112 DELRIN BALL 3/8 DIA (PKG OF 12  $15.17 
90610121 FURLER LINE - BRAVO  $13.79 
90611001 COMPTIP HOBIE BRAVO OS  $184.92 
90612111 MAST BEARING - INJ MOLD  $13.10 
90613000 MAST BRAVO LOWER T/F OST  $611.34 
90640011 MAST BASE BRAVO  $66.23 
90640021 BALL - MAST ROTATION  $38.63 
90700011 WIRE BRAVO MAINSHEET ATTACHMEN  $66.23 
90700050 COVER BRAVO A-FRAME  $7.44 
90700121 BLOCK SINGLE w/BECKET BLACK  $38.63 
90700131 BLOCK RATCHET LOWER BRAVO (EZ  $151.80 
90700201 BRACKET MAINSHEET ATTACH - BRA  $24.83 
90701001 A-FRAME REPLACEMENT KIT 2-PC  $621.00 
90710000 A-FRAME SUPPORT w/STRAP -NEWER  $117.29 
90710009 END CAP, VERT SPRT 5/16 - 18  $13.79 
90710010 END CAP, VERT SPRT 5/16-18  $13.79 
90710011 A-FRAME SUPPORT w/STRAP -OLDER  $117.29 
90711001 A FRAME ATTACH-OLD STYLE 1/4-2  $57.95 
90711011 A FRAME ATTACH-NEW STYLE 5/16-  $57.95 
90720000 BOOM ASSY BRAVO OS  $810.06 
90720101 GSNK BOOM CLIP - BRAVO  $150.42 
90870000 BEACH DOLLY - BRAVO OS  $836.11 
90880211 PINTLE UPR - EZ LOC  $38.63 
90880221 PINTLE LWR - EZ LOC  $41.39 
90880231 RETAINER CLIP EZ LOC RDR HOUSI  $6.61 
90990021 SAIL BRAVO 3.8 OZ-SEABREEZE  $1,113.66 
90990022 SAIL BRAVO 3.8 OZ-MARTINIQ  $1,113.66 



90991000 BAG MAST/SAIL BRAVO  $133.85 
90992000 BAG SAIL BRAVO (SAIL ONLY)  $55.19 
91011001 BATTEN CAP 3/16 DIA  $7.81 
91011011 BRAVO BATTEN #1 (5' 6 1/2")  $27.59 
91021111 BRAVO BATTEN #2 (11'  6 5/8")  $34.49 
91031011 BRAVO BATTEN #3 (10')  $33.11 
91041011 BATTEN 3/16 FG ROD, 7' 8-1/2"  $22.07 
91050010 HOOK WHT NYLON SEW-ON  $4.40 
91050020 HOOK BLK NYLON SEW-ON  $4.40 
91051011 BATTEN 3/16 FG ROD, 9' 2"  $23.45 
91281000 DRAIN SCREW W/WASHER WV/TF/20/  $11.58 
92870000 SHACKLE HEADBOARD 3/16  $35.87 
96280000 SLUG SLIDE 5/16" NYLON  $6.33 
98100002 HANDLE / ECLIPSE  $66.64 
98100003 SCREW TH-STL M6x25  $2.88 
98100004 SIDE CARRY HANDLE KIT ECLIPSE  $157.94 
98100009 SHOULDER BOLT 1/4-28 X 1/2  $2.88 
98100010 MIRAGEDRIVE ECLIPSE  $1,019.82 
98100013 CAM ASSY ECLIPSE  $5.49 
98100016 SPRING ECLIPSE CAM MIR WELL ST  $2.01 
98100017 SPRING ECLIPSE CAM MIR WELL PO  $2.01 
98100020 HANDLEBAR ASSY - ECLIPSE ADJUS  $499.56 
98100021 HANDLEBAR ASSY, NON-ADJ DURA  $478.86 
98100027 CRANK ASSY ECLIPSE  $150.70 
98100031 RUDDER ECLIPSE  $37.66 
98100037 FAIRING MIRAGE DRIVE V2  $6.94 
98100039 DURA GRIP/CABLE REPL KIT-PAIR  $215.90 
98100040 CALIPER HOUSING OVERMOLDED  $18.82 
98100042 CALIPER HANDLE OVERMOLDED  $14.48 
98100045 CALIPER SPRING  $1.92 
98100057 CRANK PAD ECLIPSE  $42.01 
98100062 HANDLEBAR MOUNT  $17.37 
98100063 CAM, HANDLEBAR LOCK  $6.65 
98100088 SCREW 8-32 X 1/4 PHMS SS  $0.40 
98100090 SCREW 5/16-18 X 1.375 BHCS BLK  $6.33 
98100091 OUTHAUL BLOCK ECLIPSE  $7.81 
98100098 SCREW 1/4-20 X 5/8 BHCS  $1.09 
98100200 RUDDER HOUS ASSEMBLY ECLIPSE  $159.39 
98100202 WIRE STEERING SET ECLIPSE (L/R  $128.33 
98100203 DRUM, ECLIPSE DRIVE w/DECAL  $126.95 
98100204 HANDLE, QR ASSEMBLY ECIPSE  $66.64 
98100205 CAM LOCK ASSEMBLY ECLIPSE  $9.40 
98100206 SPROCKET ASSEMBLY ECLIPSE  $68.99 
98100207 FLOW FIN ASSEMBLY  $134.74 



98100208 MAST ASSEMBLY ECLIPSE  $105.76 
98100209 PEDAL PAD SET, ECLIPSE R/L  $151.80 
98100210 CONTROL LINE, SUM w/KNOT COVER  $44.15 
98100211 BUNGEE ECLIPSE RUDDER WELL  $13.79 
98100212 PEDAL ASSY (R) ECLIPSE  $133.85 
98100213 PEDAL ASSY (L) ECLIPSE  $133.85 
98100214 PAD, HANDLEBAR 10.5  $40.94 
98100215 PAD, HANDLEBAR 12.0  $79.68 
98100216 DECK PAD ECLIPSE 10.5 REPLACEM  $159.45 
98100217 DECK PAD ECLIPSE 12.0 REPLACEM  $333.27 
98100218 ECLIPSE STEERING CBL SET-CMPLT  $155.94 
98100219 BOW PAD, ACX ECLIPSE 10.5  $58.50 
98100220 BOW PAD, ACX ECLIPSE 12.0  $73.12 
99304101 ISLAND AMA V1 REPL-NEW HIBISCU OS  $619.62 
99304501 AI AMA V2-HIBISCUS OST  $619.62 
99305001 ISLAND AMA V1 REPL-DUNE OS  $619.62 
99305501 AI AMA V2-DUNE OST  $619.62 

1470B TRAP WIRES WAVE BLK  $99.35 
1471B TRAP WIRES H16/17 BLK  $92.45 

1471W TRAP WIRES H16/17 WHT  $- 
1472B TRAP WIRES H16 BLK W/SHCK  $115.91 

1472W TRAP WIRES H16 WHT W/SHCK  $- 
1473B TRAP WIRES H18 BLK (ONE SIDE)  $124.19 

1473W TRAP WIRES H18 WHITE  $142.14 
1474B TRAP WIRES H18 BLK W/SHCK  $160.08 
1475B TRAP WIRES H14 BLK  $133.85 
1476B TRAP WIRES H14 BLK W/SHCK  $155.94 

1476LG HARNESS AUTOMATIC LG  $302.80 
1476MD HARNESS AUTOMATIC MD  $302.80 
1476SM HARNESS AUTOMATIC SM  $302.80 
1476XL HARNESS AUTOMATIC XL  $302.80 

1478B TRAP WIRES GETAWAY  BLK  $113.15 
1478LG HARNESS CONVERTIBLE LG  $285.25 
1478SM HARNESS CONVERTIBLE S/MD  $285.25 
1478XL HARNESS CONVERTIBLE XL  $285.25 
1488LG HARNESS SKIPPERS LARGE  $217.96 
1488MD HARNESS SKIPPERS MEDIUM  $217.96 
1488SM HARNESS SKIPPERS SMALL  $217.96 
1488XL HARNESS SKIPPERS XLARGE  $217.96 
1521H BATTEN CAP KIT, H14/17 LEACH  $49.67 
1522H BATTEN CAP KIT, H16 MAIN LEACH  $66.23 
1523H BATTEN CAP KIT, H18 LEACH  $80.03 
1531H BATTEN CAP KIT, H16 JIB  $24.83 

1552CR CROAKIES "HOBIE" BLACK  $11.03 



1553CR CROAKIES "HOBIE" BLUE  $11.03 
1553L LID LATCH MULTI-COLOR  $9.78 

1554CR CROAKIES "FISHING" BLACK  $11.03 
1555CR CROAKIES "FISHING" BLUE  $11.03 

1671BLK RAIL RUG KIT BLACK - H14/16  $62.09 
1825LID LID TOYBOX FWD - FIBERGLASS  $74.51 

1825WHT TOYBOX OST  $1,008.78 
2004BLK J & H HANDLES-BLACK  $68.99 

2004WHT J & H HANDLES-WHITE  $68.99 
23011701-10 SUP PADDLE HQB - PER  $467.82 
23011702-10 SUP PADDLE HQB - SURF  $467.82 
23012085-10 CARBON RACE 8.5 SUP PADDLE BLA  $535.44 
23014075-10 EXPLORER FX 7.5 SUP PADDLE  $255.99 
23015075-10 EXPLORER STRETCH 7.5 ADJ SUP P  $299.87 

314-13ALL COVER UNIVERSAL UP TO 13' WAVE  $402.96 
314-14TO17 COVER UNIVERSAL 14'-17'  $425.04 

314-16-GTWY2 COVER GETAWAY UNIVERSAL (V2)  $509.22 
314-17TO18 COVER UNIVERSAL 17'-18'  $471.96 
314-19TO20 COVER UNIVERSAL 19'-20'  $557.52 

3188LG GLOVES HOBIE LARGE  $38.02 
3188MD GLOVES HOBIE MEDIUM  $38.02 
3188SM GLOVES HOBIE SMALL  $38.02 
3188XL GLOVES HOBIE X LARGE  $38.02 
3252W WIRE COVERS 1/8" WHITE  $6.33 
3253W WIRE COVERS 5/32" WHITE  $6.33 
3261B SHROUD ADJ COVERS BLK 12" PAIR  $27.59 

3850XL HOBIE SPRAY TOP XL  $190.88 
460310-22 HOBIE 8-6 SUP BAG  $165.60 
460314-22 HOBIE 9-0 SUP BAG  $213.57 
460350-22 HOBIE 12-0 SUP BAG  $198.72 
460354-22 HOBIE 12-4 SUP BAG  $234.05 
460360-22 HOBIE 12-6 SUP BAG  $289.63 
460370-22 HOBIE 14-0 SUP BAG  $305.73 
460371-22 HOBIE 9-4 SUP BAG 17+ 8-9/9-3  $239.88 
460372-22 HOBIE 10-6 SUP BAG 17+9-8/10-4  $254.55 
460373-22 HOBIE 12-4 SUP BAG 17+12-2/12-  $288.20 
460710-10 H SUP DIE CUT STICKER BLK  $3.02 
463480-12 ROLLING INFLATABLE SUP BAG  $- 
467110-10 FINS HOBIE 7" SUP  $- 
467112-10 FINS HOBIE 8" SUP  $98.52 
467118-22 FINS PHASE 3 RACE SUP 9.25"  $64.86 
467123-22 FUTURES SIDE FINS F6 SIDE  $44.15 
470145-10 HOBIE SUP LEASH COIL 8'  $51.18 
470155-10 HOBIE SUP LEASH 9'  $48.21 



475205-33 HOBIE 8PC SURF SUP PAD-GREY  $182.85 
475207-33 HOBIE 8PC SURF SUP PAD-RED  $155.94 
475208-33 HOBIE 8PC SURF SUP PAD-GREEN  $155.94 
475213-33 HOBIE 8PC SURF SUP PAD-BLUE  $155.94 
475215-33 HOBIE 2PC RACE SUP PAD-GREY  $95.21 
478261-00 VENT KIT-SUP  $15.34 
478285-01 SUP PROTECTION KIT  $78.65 
485405-10 TIE DOWN - 12' SUP  $27.59 
485410-10 RACK PAD 18" SUP  $49.67 
485420-10 RACK PAD 36" SUP  $70.37 
486380-28 HOBIE PADDLE BAG 3XP  $131.85 
494526-00 PUMP - BRAVO ELEC w/BATTERY  $459.32 

5019BK HAT "HOBIE" 6-PANEL LO PRO BLK  $23.45 
5030SM HAT, HOBIE PATCH OLIVE/BLACK  $24.62 

5033LXL HAT, HOBIE PATCH GRAY/BLACK  $24.62 
72000B POUCH GUSSETTED 6x12  $31.86 
72005B POUCH SUPER GUSSETED 8x15  $36.21 
72210L VIEW DRY BAG VENTED 10L  $51.05 
72230L VIEW DRY BAG VENTED 30L  $73.13 
80000R ROLLING DUFFLE/GEAR BAG  $- 
80035A ANCHOR w/BAG & LINE (3.5 LB)  $97.97 

B094 SWIVEL SHACKLE  $22.07 
B323 BULLSEYE W/FERRULE  $11.99 

BAJA-010108 SATIN BLK/GREY  PC  $115.91 
BAJA-010139 SATIN BLACK CPR / SEA GRN MIR  $130.40 
BAJA-010168 SATIN BLK/GREY/COBALT MIR PC  $130.40 

BAYSIDE-010108 SATIN BLK/GREY  PC  $130.40 
BROAD-909008 SHINY GUNMETAL/GREY  PC  $115.91 
BROAD-949468 SHINY GOLD/GREY/COBALT MIR  PC  $130.40 

CABO-48PGY SATIN BLK/GREY  PC  $115.91 
CABO-50PGY SHINY BLK/GREY  PC  $115.91 
CABO-58PCP SHINY BRN WD GRAIN/COPPER  PC  $115.91 

CM7703 BRIDLE VANE - STANDARD  $42.77 
CM7704 VANE REPLACEMENT  $17.93 
CM7705 BRIDLE VANE ADAPTOR - FURLER  $26.21 
CM7732 L'IL SISTER CLIPS  $30.35 

COASTAL-B010126 SATIN BLACK COPPER / SEA GREEN  $130.40 
COASTAL-B010168 SATIN BLACK GREY / COBALT  $130.40 

CRUZ-010168 SATIN BLK/GREY/COBALT MIR  PC  $130.40 
CRUZ-191928 SATIN BRN WOOD GRN/COPPER  PC  $- 
DANA-000008 SHINY BLACK / GREY  $101.42 
DANA-222228 SHINY CRYSTAL BROWN / COPPER  $101.42 

ELMATADOR-01010 SATIN BLACK / GREY PC  $144.89 
ELMATADOR-97813 SATIN BROWN TORT / SGTMSTR PC  $159.39 



EVGLADE-010126 SATIN BLACK / COP W/ SEA GRN  $130.40 
EVGLADE-010138 SATIN BLACK / SIGHTMASTER  $130.40 

F99502360 TILLER EXT CARBON WC/TIGER OS  $600.63 
H001 BLOCK SINGLE 2.25"  $78.65 
H071 SPRING-STANDUP  $2.75 
H072 SHACKLE-3/16" W/PIN & RING  $6.89 
H082 BLOCK-SINGLE BULLET  $24.27 
H083 BLOCK-BULLET W/BECKET  $29.24 
H084 BLOCK-BULLET DOUBLE  $66.23 
H092 BLOCK-BULLET CHEEK  $28.97 
H093 SPRING, MICRO CAM CLEAT MS-093  $3.30 
H097 STAND UP SPRING-SMALL  $2.75 
H099 BLOCK-BULLET W/BCKT (HI LOAD)  $38.63 
H125 BLOCK-BIG BULLET  $44.15 
H126 BLOCK-BIG BULLET W/BECKET  $50.36 
H137 EYESTRAP-LARGE SS  $6.33 
H138 SHACKLE ASSY-1/4" SS  $12.13 
H145 CAM-MATIC WEDGE KIT  $12.13 
H150 CAM CLEAT-CAM MATIC ALUMINUM  $55.74 
H160 SHEAVE-BULLET  $17.37 
H166 BLOCK-BULLET SWIVEL  $43.32 
H167 BLOCK-BULLET SWIVEL W/BECKET  $48.29 
H168 BLOCK-BIG BULLET SWIVEL  $58.91 
H194 BLK-2.25" LO PRO TRIPLE HEX  $316.02 
H201 EYESTRAP-LO PRO SS  $3.30 

H2131 SHACKLE 4 MM BOW W/5/32" PIN  $12.13 
H2139 BLK 2.25" CARBO RATCHET/CAMMAT  $247.02 

H224 BLOCK-MICRO SINGLE  $17.93 
H225 BLOCK-MICRO W/BECKET  $20.55 
H226 BLOCK-MICRO DOUBLE  $45.25 
H227 BLOCK MICRO DOUBLE W/BKT  $49.67 
H228 BLOCK-MICRO TRIPLE  $64.85 
H231 BLOCK-MICRO TRIPLE W/CAM  $146.28 
H232 BLOCK-MICRO TRAVELER  $40.28 
H233 BLOCK-MICRO CHEEK  $24.27 
H237 BULLSEYE FAIRLEAD  $12.13 
H244 BLOCK MICRO FIDDLE W/V-JAM  $53.12 

H2640 TRIPLE 40mm CARBO BLOCK  $175.26 
H2655 BLOCK, 40mm CARBO FIDDLE  $64.85 

H281 EYESTRAP-MICRO SS  $4.40 
H284 KIT-MICRO WIRE FAIRLEAD  $12.13 
H285 SAIL CHAFE PROTECTOR SET  $54.22 
H297 WEDGE KIT-MICRO CAM  $7.16 
H344 29mm CARBO TRIPLE SWIVEL  $86.51 



H347 29mm CARBO TRIPLE w/CLEAT  $157.32 
H353 BLOCK-BULLET TRAVELER  $45.94 
H365 CAM CLEAT-PL HI PERFORMANCE LP  $43.87 
H395 BLK-BULLET PIVOT EXIT W/CAM  $97.14 
H404 BLOCK-16MM AIR FXD SGL  $20.41 
H406 BLOCK-16MM AIR FIXED DOUBLE  $42.35 
H407 BLOCK-16MM AIR FIXED DBL W/BKT  $46.22 

H424B FAIRLEAD MICRO CAM - BLK  $12.13 
H471 CAM CLEAT-MICRO CARBO  $38.63 

HFS100 SCREW 8-32 X .188 18-8 S-THMS  $0.68 
HSB56 CAM SPRING-150 & 200  $4.40 
HSPAP SCREW 1/4-20 X 3/4 THMS-P SS  $1.92 

HUNTING-L0108 SATIN BLACK ENTRAPPED / GREY  $57.95 
HUNTING-L0128 SATIN BLACK ENTRAPPED / COP  $57.95 
HUNTING-L9926 UNENTRAPPED COPPER / SEA GRN  $72.44 
HUNTING-L9968 UNENTRAPPED GREY / COBALT  $72.44 
IMPE200-000128 SHINY BLACK / COPPER +2.0  $144.89 
KAYLEE-000008 SHINY BLACK / GREY  $101.42 
KAYLEE-282828 SHINY BROWN TORT / COPPER  $101.42 
MALIBU-48PGY SATIN BLK/GREY  PC  $- 
MALIBU-57PCP SHINY BRN WOOD GRAIN/CPR  PC  $- 

MAVERIC-920008 SHINY SILVER / BLACK / GRE  $144.89 
MAVERIC-940027 SHINY GOLD / BLACK / COP GRAD  $144.89 

MK0046 HOBIE CAUTION FLAG  $8.82 
MK0053 SAFTEY WHISTLES  $13.79 

MOJO-B010168 SATIN BLK/GREY/COBALT MIRROR  $144.89 
MOJO-B010188 SATIN BLK/BRN/GREEN MIRROR  $144.89 
MOJO-B292928 SHINY BRN WOOD GRN/COPPER  NYL  $130.40 

MONICA-010108 SATIN BLK  / GREY  PC  $101.42 
MONICA-444408 SATIN AQUA  / GREY  PC  $101.42 

OLAS-50PGY SHINY BLK/GREY  PC  $- 
OLAS-61PCP SHINY BRN WOOD GRN/COPPER  PC  $- 

OXNARD-010168 SATIN BLK/GREY/COBALT MIR  PC  $- 
P10572500 INFLATABLE SUP BACK PACK  $146.44 
P10572700 FIN (SKEG) - INFLATABLE SUP CE  $30.59 
P10572800 INFLATABLE SUP KEEPER PIN FOR  $7.88 
P10572900 INFLATABLE SUP PUMP W/GAUGE  $- 
P10573000 PUMP HOSE, SUP PUMP  $13.30 
P10573100 INFLATABLE SUP REPLACEMENT VAL  $20.43 
P10573200 PUMP GAUGE, SUP PUMP  $20.27 
P10573300 INFLATABLE SUP REPAIR KIT  $20.43 

P23023278-10 PADDLE HANDLE 7.8 / 8.5  $42.41 
P23024275-10 PADDLE HANDLE 7.5 FX  $42.41 
P23025275-10 PADDLE HANDLE 7.5 ADJ W/TOP  $49.72 



P23074075-10 PADDLE, BLK INFLATABLE SUP EXP  $336.44 
P23074175-10 INFLAT SUP 7.5/3PC PADL HANDLE  $93.52 
P23074375-10 INFLAT SUP 7.5/3PC PADL SHAFT  $79.72 
P23074575-10 INFLAT SUP 7.5/3PC PADL CONNEC  $22.37 
P23074975-00 INFLAT SUP 7.5/3PC PADL CLIPS  $12.59 
P46710575-00 FIN PLATE w/SCREW - SUP  $2.47 
P46710576-00 WONDERBOLT SCREW W/PLATE  $11.58 

P46732092 HOBIE 9.25 PHASE 4 TOURING FIN  $56.34 
Part Description HAZ  $2,787.60 

R359P LANCE CLEAT PORT  $24.83 
R359S LANCE CLEAT STBD  $24.83 

RF4850LG GLOVES-FINGERLESS LG STICKY  $57.03 
RF4850MD GLOVES-FINGERLESS MD STICKY  $57.03 
RF4850SM GLOVES-FINGERLESS SM STICKY  $57.03 
RF4850XL GLOVES-FINGERLESS XL STICKY  $57.03 
RF4850XS GLOVES-FINGERLESS XS STICKY  $57.03 
RF4851LG GLOVES-3 FINGER LG STICKY  $61.42 
RF4851MD GLOVES-3 FINGER MD STICKY  $61.42 
RF4851SM GLOVES-3 FINGER SM STICKY  $61.42 
RF4851XL GLOVES-3 FINGER XL STICKY  $61.42 
RF4851XS GLOVES-3 FINGER XS STICKY  $61.42 

RF5001 CAM CLEAT SM RED  $38.63 
RF5005 SMALL "FAST TRACK" FAIRLEAD  $13.10 
RF5011 CLEAT CAM RONSTAN  $44.15 
RF5015 MEDIUM "FAST TRACK" FAIRLEAD  $16.55 
RF5404 SMALL ROPE GUIDE  $13.10 

RF56100 BLOCK SERIES 55 AUTO RATCHET  $126.95 
RH014WHT LINE 1/4" STRAIT-CORE POLY  $1.92 
RH018WHT LINE 1/8" NYLON BRAID WHITE  $0.68 
RH038WHT LINE 3/8" STRAIT-CORE POLY  $2.75 
RH112WHT LINE 1/12" BRAID WHITE  $0.54 
RH316WHT LINE 3/16" STRAIT-CORE POLY  $1.09 
RH516WHT LINE 5/16" STRAIT-CORE POLY  $1.92 
RL012BLU LINE 1/2" HOLLOW BRAID BLU/WHT  $1.92 

RLH4BS LINE 4MM MAGIC EDGE BLK/SLVR  $2.01 
RLH4BYB **SEE NEW PART NUMBER RLH4BS**  $- 
RLH5BLU LINE 5MM HERCULES COLOUR BLUE  $2.01 
RLH5RYB LINE 5MM MAGIC GOLD RED/YEL/BL  $2.88 
RLH5YEL LINE 5MM MAGIC D PRO YELLOW  $3.75 
RLH5YRB LINE 5MM MAGIC GOLD YEL/RED/BL  $2.88 

RLM10YEL LINE 10MM NAUTIC YELLOW  $2.88 
RLM7OW LINE 7MM MAGIC SHEET ORG/WHT F  $2.01 
RLM9SW LINE 9MM MAGIC SHEET SILV/WHT  $2.88 
RLS4BLK SHOCKCORD 4MM BLACK  $1.15 



RLS5BLK SHOCKCORD 5MM BLACK  $1.15 
RM014BLK LINE 1/4" SPUN DACRON - BLACK  $2.75 
RM014BLU LINE 1/4" SPUN DACRON - BLUE  $2.75 
RM014RED LINE 1/4" SPUN DACRON - RED  $2.75 
RM014WHT LINE 1/4" SPUN DBL BRD - WHITE  $1.92 
RM038BLK LINE 3/8" SPUN DACRON - BLACK  $3.57 
RM038BLU LINE 3/8" SPUN DACRON - BLUE  $3.57 
RM038RED LINE 3/8" SPUN DACRON - RED  $3.57 
RM038WHT LINE 3/8" SPUN DBL BRD - WHITE  $3.30 
RM516BLK LINE 5/16" SPUN DACRON - BLK  $2.75 
RM516BLU LINE 5/16" SPUN DACRON - BLUE  $2.75 
RM516RED LINE 5/16" SPUN DACRON - RED  $2.75 
RM516WHT LINE 5/16" SPUN DBL BRD-WHITE  $- 
RM716BLK LINE 7/16" SPUN DACRON - BLACK  $4.40 
RM716BLU LINE 7/16" SPUN DACRON - BLUE  $4.40 
RM716RED LINE 7/16" SPUN DACRON - RED  $4.40 
RM716WHT LINE 7/16" SPUN DACRON - WHITE  $4.40 

RS014BLK SHOCKCORD 1/4" BLACK  $1.09 
RS018BLK SHOCKCORD 1/8" BLACK  $0.54 
RS038BLK SHOCKCORD 3/8" BLACK  $2.75 
RS316BLK SHOCKCORD 3/16" BLACK  $0.68 
RS516BLK SHOCKCORD 5/16" BLACK  $1.92 
RS716BLK SHOCKCORD 7/16" BLACK  $4.40 
S6103LXL PFD  THINBACK MEN SUN L/XL  $153.59 
S6103SM PFD  THINBACK MEN SUN S/M  $153.59 

S6103XXL PFD  THINBACK MEN SUN XXL  $153.59 
S6104LXL PFD  THINBACK MEN SLATE L/XL  $153.59 
S6104SM PFD  THINBACK MEN SLATE S/M  $153.59 

S6104XXL PFD  THINBACK MEN SLATE XXL  $153.59 
S6105ML PFD  THINBACK WMN SUN M/L  $153.59 
S6105PL PFD  THINBACK WMN SUN PLUS  $153.59 

S6105XSS PFD  THINBACK WMN SUN XS/S  $153.59 
S6106ML PFD  THINBACK WMN SLATE M/L  $153.59 
S6106PL PFD  THINBACK WMN SLATE PLUS  $153.59 

S6106XSS PFD  THINBACK WMN SLATE XS/S  $153.59 
S6107LXL PFD FISH THINBACK STGRN L/XL  $184.31 
S6107SM PFD FISH THINBACK STGRN S/M  $184.31 

S6107XXL PFD FISH THINBACK STGRN XXL  $184.31 
S6108LXL PFD EDGE BLKGRY L/XL  $184.31 
S6108SM PFD EDGE BLKGRY S/M  $184.31 

S6108XXL PFD EDGE BLKGRY XXL  $184.31 
S6771CLG PFD CHILD LIME GREEN 30-50#  $46.79 
S6771ILG PFD INFANT LIME GREEN <30#  $46.79 

S6771YLG PFD YOUTH LIME GREEN 50-90#  $48.26 



S6779R PFD INFLATABLE REARM KIT 24g  $31.73 
S6780R PFD INFLATABLE REARM KIT 16g  $31.73 

S6782BL PFD INFLATABLE BLUE - 24g  $197.48 
S6782GR PFD INFLATABLE GREEN - 24g  $197.48 
S6782RD PFD INFLATABLE RED - 24g  $197.48 
S6782TN PFD INFLATABLE TAN - 24g  $197.48 
S6783BL PFD BELT PACK INFLATABLE BLUE  $177.00 
S6783YL PFD BELT PACK INFLATABLE YELLO  $177.00 

S6800LXL PFD MIRAGE GRAY - LARGE/XL  $- 
S6800MLG PFD MIRAGE GRAY - MEDIUM/LG  $- 
S6800SMD PFD MIRAGE GRAY - SMALL/MED  $146.28 

S9000LG PET PFD LG MANGO 60-90#  $61.42 
S9000MD PET PFD MD MANGO 24-60#  $61.42 
S9000SM PET PFD SM MANGO 12-24#  $61.42 
S9000XL PET PFD XL MANGO >90#  $61.42 
S9000XS PET PFD XS MANGO <12#  $61.42 

SANDCUT-000008 SHINY BLK/GREY  PC  $101.42 
SANDCUT-010168 SATIN BLK/GREY/COBALT MIR  PC  $115.91 
SANDCUT-252528 SATIN SHINY CRYSTAL BRN/CPR  P  $- 

SNOOK-010126 SATIN BLACK / COP W/ SEA GRN  $130.40 
SNOOK-010138 SATIN BLACK / SIGHTMASTER  $130.40 

SP150041 SHACKLE 5/32 -  3/8  X  5/8  $11.44 
SP150051 SHACKLE 3/16 - 1/2 x 11/16  $11.44 
SP150052 SHACKLE 3/16 - 5/8 x 1"  $11.44 
SP150061 SHACKLE 1/4 - 9/16 x 1"  $12.82 
SP150081 SHACKLE 5/16 - 11/16 x 13/16  $24.83 
SP180005 SHACKLE W/SAFETY KEY PIN 3/16"  $12.68 
SP180006 SHACKLE W/SAFETY KEY PIN 1/4"  $17.93 
SP180008 SHACKLE SAFETY 5/16  $13.65 
SP185205 SHACKLE W/ SAFETY KEY PIN 3/16  $12.13 

TRESTLES-010139 SATIN BLK/SIGHTMASTER PC  $115.91 
WOODY-010108 SATIN BLK/GREY  PC  $101.42 
WOODY-282808 SHINY LEOPARD TORTOISE/GRY  PC  $101.42 
WOODY-94PCP SHINY TORTOISE/COPPER  PC  $101.42 

WRIGHTS-000008 SHINY BLK/GREY  PC  $101.42 
WRIGHTS-323228 SHINY CRYSTAL OLIVE/CPR  PC  $101.42 
WRIGHTS-949428 SHINY BRN TORTOISE/COPPER  PC  $101.42 


	FINAL DEALER 9-1-2020

